Svenska Bridgeférbundet
Simultan 2021-09-06

Partavling, 66 bord, 127 par. Antal brickor: 24. Medel: 1439.7. Frirond (*) ger egen procent.

Plac Par
1 G20
2 B4
3 Hi8
4 B5
5 J7
6 G4
7 Jl
8 D2
9 D1

10 J6
11 Al12
12 G18
13 A3
14 E5
15 B8
16 C5
17 E2
18 114
19 Hi4
20 H11
21 17
22 D13
23 F4
24 11
25 C12
26 F8
27 14
28 D15
29 C6
30 E4
31 G1
32 H17
33 H8
34 Al
35 A8
36 Gl12
37 Gl4
38 D4
39 F1
40 F11
41 F9
42 C2
42  E7
44 D11
45 D16
46  H3
47 A7
48 B9
49 12
50 H15
51 Gl11
52 G3
53 A4
54 C1l1
55 G19
56 All
57 16
58 J2
59 G117
60 F5
61 G15
62 D14
63 G16
64 B10
65 J8
66 C9
67 H7
68 F7
69 15
70 A2
71 110
72 H16
73 113
74 H6
75 112
76 B2
77 C8
78 F10
79 D7
80 C3
81 H2
82 H10
83 J3
84 F2
85 H13

Poang

1925.2
1895.5
1821.6
1807.5
1757.9
1749.8
1744.8
1731.4
1720.7
1714.0
1713.7
1700.7
1700.5
1688.8
1685.0
1680.5
1675.8
1663.7
1662.0
1656.2
1654.3
1630.2
1628.0
1621.5
1620.7
1611.4
1604.9
1602.2
1601.5
1593.0
1580.7
1580.6
1578.2
1574.1
1573.5
1572.8
1559.4
1557.4
1557.3
1555.4
1544.6
1539.5
1539.5
1538.6
1538.1
1525.5
1522.4
1519.7
1510.7
1506.4
1505.9
1502.4
1499.0
1491.4
1489.0
1487.5
1487.4
1487.2
1483.1
1478.9
1476.9
1469.1
1463.7
1460.2
1460.0
1457.5
1450.0
1447.0
1446.1
1435.5
1433.7
1428.7
1427.7
1423.8
1405.4
1404.8
1395.8
1392.9
1392.0
1390.5
1386.2
1378.8
1375.4
1371.7
1365.1

%

66.85
65.82
63.25
62.76
61.04
60.76
60.58
60.12
59.75
59.51
59.50
59.05
59.04
58.64
58.51
58.35
58.19
57.77
57.71
57.51
57.44
56.60
56.53
56.30
56.27
55.95
55.73
55.63
55.61
556.31
54.88
54.88
54.80
54.66
54.64
54.61
54.14
54.07
54.07
54.01
53.63
53.46
53.46
53.42
53.40
52.97
52.86
52.77
52.46
52.31
52.29
52.16
52.05
51.78
51.70
51.65
51.64
51.64
51.50
51.35
51.28
51.01
50.82
50.70
50.70
50.61
50.35
50.24
50.21
49.84
49.78
49.61
49.57
49.44
48.80
48.78
48.47
48.36
48.33
48.28
48.13
47.88
47.76
47.63
47.40

Namn

Jan Nilsson - UIf Bogren

Therése Andersson - Micael Svensson
Per-Ingvar Skoglund - Vera Gemrud
Roland Karlsson - Alf Thorell

Britta Kramer - Elisabeth Troedsson
Per-Erik Pettersson - Bo Selander
Ake Wallin - Hakan Svensson

Jorgen Claesson - Peter Wester
Per-Ake Good - Monica Eriksson
Carina Sirberg - David Andersson
John-Olov Andersson - Jonas Karlsson
Lars Malm - Lars-Ake Nilsson

Ingmar Andersson - Thomas Kastel
Kjell Nersveen - Mats Broberg
Lennart Persson - Peter Schmidt
Ingvar Arvidsson - Per Géransson
Stefan Broberg - Tove Rangberg
Ceve Eldh - Mattias Axner

Lena Skoglund - Gunilla Johansson
Ingegérd Nordenberg - Kent Nordenberg
Benny Olsson - Gunder Persson

Gen Gustafsson - Lisbet Mattsson
Gunhild Heinlo - Fredrik Flink

Bengt Forsberg - Jan-Ove Linnerback
Jaenita Johansson - Kaj Toivosson
Jan Geiborg - Orjan Svensson
Anders Brodin - Arnold Ivansson
Tony Laszlo - Tony Hakansson

Jan Unosson - Tage Bengtsson

Kent Persson - Christer Toreheim
Rolf Gustafsson - UIf J6nsson
Tommy Johansson - Ulf Backman
Lennart Nordberg - Anders Hantoft
Linnar Holgersson - Gosta Frodin
Kent Rorgvist - Mikael Skoog
Jan-Erik Eriksson - Jan-Erik Larsson
Anneli Jonsson - Anita Bergwall

Curt Arvidsson - Jadwiga Nygren
Kerstin Persson - Goran Swartz
Hakan Lager - Ingegerd Weinberg
Roger Eriksson - Eric Sundelin
Daniel Gustavsson - Thomas Samuelsson
Bruno Karlstam - Roger Satherberg
Annelie Strém - Anita Thunell Akvist
Ingela Nelander Hall - Mats Hall
Maria Andreasson - Maria Ohlsson
Eva Silvén - Birgitta Frodin

Bengt Friberg - Ann-Britt Friberg
Maria Toérnblad - Mia Kjellgren

Stefan Johnson - Gunno Nilsson
Mona Mattsson - Bengt Jonsson

Bert Wahlin - Anders Svensson
Elisabet Rydbeck - Eva Séderquist
Sten Oman - Henrik Westling
Christina Gutenwik - Ulla-Britt Carlsson
Karl-Erik Backelin - Hakan Stromberg
Agneta Johansson - Anders Jonsson
Hasse Rohlin - Maud Sandstrém
Magnus Widarsson - Ake Karvegard
Gunilla Larsson - Lasse Sjolander
Kenneth Osterberg - Bjorn Fylke
Hakan Gabrielsen - Erik Franzén
Gert Fors - Ann-Charlotte Nordbjork
Nils Westling - Astor Karlsson

Arne Fridh - Lars Franklin
Lars-Goran Olsson - Roger Brandt
Kristina Sahlin - Rolf Runquist

Folke Persson - Hans Eklund

Leif Karlsson - Claes Stymne

Renée Blixt - Karin Backelin

Anna Syberfeldt - Tommy Ranta-Mikkula
Ingalill Svensson - Solveig Svensson
Annika Sandberg - Rolf Israelsson
Greger Sundgren - Bengt Sdderquist
Hakan Gustafsson - Lilian Helgeson
Lena Bohman - Kurt Wikstrém
Johnny lvarsson - Sten Johansson
Carina Heinlo - Tomas Gustavsson
Mats Larsson - Per Sjéman

Anders Goransson - Lennart Johansson
Karl-Otto Waara - Bengt Alfredsson
Bert Gustavsson - Karin Nilsson
Stefan Wistrom - Kersti Ekholm
Christer Ohman - Georg Larsson
Roland Svensson - Jonas Larsson

MID

4501
35554
2734
6595
66277
10690
3214
28214
13641
39748
2893
6394
11748
14986
54719
16819
16034
4244
8594
11872
592
38581
2175
24787
7598
12165
18577
60350
8677
54551
16192
16141
13321
21188
2491
30073
33300
15894
10662
2236
9021
7923
14996
60347
93856
61184
78302
46481
84547
9632
30608
41515
39543
10766
6301
24959
43365
83807
37131
10657
4700
27871
16982
28355
38647
24911
25964
10661
88220
60183
40068
92783
1661
28664
14554
56467
11016
55897
241
1738
46227
12209
92607
43095
92781

486
2383
23764
4151
17566
10057
3390
54
81404
3221
17920
12667
20786
11966
54440
1739
2684
63678
32115
9631
7640
57723
7749
22777

Klubb

Héssleholms BK
Orebridgen

BK Allians, Halmstad

ABK Singelton, Askersund
Soderhamns BS - Bollnas BK
Hassleholms BK
Soderhamns BS - Bollnds BK
Hedemora BS

Borléange BK

Soderhamns BS

Arvika BS

Hassleholms BK

Arvika BS

Finnskoga BS

ABK Singelton, Askersund
Boras BA - Svenljunga BK
Finnskoga BS

Skoévde BA

Laholms BK

Laholms BK

Skoévde BA

Borlange BK

Gnesta BK

Skoévde BA

Bor&s BA - Ulricehamns BK
Gnesta BK

Stenstorps BK

Borlénge BK - LudvikaBygdens BK
Boras BA

Finnskoga BS

Hassleholms BK

Laholms BK

Laholms BK

Arvika BS

Arvika BS

Hassleholms BK
Hassleholms BK

Borlange BK

Gnesta BK - BK S:t Erik
Roénninge BS

Gnesta BK

Falkopings BS - Boras BA
Finnskoga BS

Borlange BK

Borléange BK

Laholms BK

Arvika BS

ABK Singelton, Askersund
Skoévde BA

Laholms BK

Hassleholms BK
Hassleholms BK

Arvika BS

Bords BA

Hassleholms BK - Hastveda BK
Arvika BS

Skoévde BA

Soderhamns BS
Hassleholms BK

Gnesta BK

Hassleholms BK - Kristianstads BK
Borlange BK - Hedemora BS
Héassleholms BK - Bjarnums BK
Motala Bridgeallians - ABK Singelton, Askersund
Soderhamns BS

Bords BA

Laholms BK

Gnesta BK

Skoévde BA

Arvika BS

Skévde BA

Laholms BK

Skoévde BA

Laholms BK

Skoévde BA

ABK Singelton, Askersund
Boras BA

Gnesta BK

Borlange BK

Boras BA

Laholms BK

Laholms BK

Soderhamns BS

Gnesta BK

Laholms BK
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86 D3 1364.3 47.37 Kjell Lundqvist - Torbjorn Sjoqvist 38578 200105 Borlange BK

87 G10 1358.9 47.18 Bo Gullberg - Ingrid Gullberg 55374 55373 Hassleholms BK - Malmo BK
88 I8 1347.4 46.78 Ingemar Rydberg - Kina Hammarlund 16207 87170 Skoévde BA
89 G5 1338.4 46.47 Rune Gustafsson - Ingrid Olsson 5902 5895 Klippans BK
90 B7 1333.2 46.29 Hans-Olov Strom - Yngve Heidgren 53632 54510 Orebridgen
91 J4 1328.0 46.11 Helen Backstrom - Lasse Backstrom 53594 42277 Gavle BK - Séderhamns BS
92 G13 1319.5 45.82 Anders Nilsson - Mikael Edenklint 13968 13725 Bjarnums BK - Hassleholms BK
93 C10 1319.5 45.81 Berry Johnsson - Olle Wingardh 59201 23806 Boras BA
94 H5 1318.9 45.80 Ulla Skarberg - Inga-Maj Baath 15888 81079 Laholms BK
95 F12 1316.0 45.70 Sune Sundholm - Ingvar Holmér 11888 4399 Trosa BS
96 C7 1298.7 45.09 Karin Arvidsson - Maria Olsson 4021 24912 Boras BA
97 19 1297.7 45.06 Per-Olof Fritzon - Per-Olov Térnqvist 34274 1862  Skovde BA
98 G8 12925 44.88 Marianne Skovsted - Britta Akerblom-Nilsson 16230 27449 Hassleholms BK
99 D5 1273.8 44.23 Monika Savberg - Marianne Lofquist 55135 58570 Borlange BK
100 D8 1273.2 44.21 Magdalena Hansson - Torbjorn Hansson 37699 49384 Borlange BK
101 D12 1272.7 44.19 Lars Fritzing - Sten Svéardstrom 7367 12 Borlange BK
102 C4 1272.4 44.18 Bjorn Westling - Hans Brolin 1666 7596 Boras BA
103 E1 1263.0 43.85 Per Jansson - Anna-Karin Mattsson 57189 57191 Finnskoga BS
104 A5 1260.0 43.75 Bo Ekberg - Remy Carlsson 41638 41637 Arvika BS
105 H1 1238.6 43.01 Thomas Knutsson - Sven-Ake Johnsson 45577 11007 Laholms BK
106 G2 1237.2 42.96 Eva Berlin - Monica Mattson 30604 92102 Hassleholms BK
107 G6 1234.1 42.85 Stig Akesson - Daniel Eriksson 45382 36363 Hassleholms BK B
108 H9 1219.1 42.33 Inga-Maj Askfelt - Malou Magnusson 15376 41841 Munka Ljungby BS - Angelholms BS
109 C1 1212.2 42.09 Hugo Jorgensen - Ulf Ekman 87239 7038 Boras BA
110 E6 1210.8 42.04 Nils Erik Magnusson - Lasse Jons 64700 64703 Finnskoga BS
1112 A9 12039 41.80 Bjorn Andersson - Lars Bergman 60190 41304 Arvika BS
112 Al10 1189.7 41.31 Olle Einarsson - Maria Einarsson 64158 64159 Arvika BS
113 111 1175.5 40.82 Bengt Franzén - Ingan Bergstrom 40074 40059 Skovde BA
114 B3 1163.0 40.38 Margareta Carlsson - Marie-Louice Lind 4145 67896 ABK Singelton, Askersund
115 D6 1155.0 40.10 Curt Wikblad - Gunilla Wikblad 43258 53251 Borlange BK
116 B6 1149.4 39.91 Leif Carlsson - Torbjorn Sjéberg 54243 54242 ABK Singelton, Askersund
117 A6 1120.4 38.90 Bo-Gunnar Torstensson - Anneli Vestlund 66547 66551 Arvika BS
118 G7 1103.1 38.30 Michal Wachalski - Bérje lvarsson 46225 5884 Klippans BK
119 E3 1089.2 37.82 Anders Brandel - Monika Frykelid 66689 66693 Finnskoga BS
120 13 1084.4 37.65 Gote Bergsten - Inge Wilsson 40057 43366 Skovde BA
121 J10 1074.0 37.29 Kjell Kallman - Siv Halvarsson 33186 65042 Sodderhamns BS
122 D10 1038.9 36.07 Christina NordIof - Irene Mattsson 35955 27873 Borlange BK
123 Bl 9819 34.09 Margareta Svensson - Pelle Svensson 43897 43898 ABK Singelton, Askersund
124 F6 9775 33.94 Hakan Andersson - Peggy Forsberg 27530 80185 Gnesta BK
125 J9 975.2 33.86 Dag Larsson - Ragnhild Ekfeldt 92611 84217 Soderhamns BS
126 H4 964.5 33.49 Evalena Glimne - Maud Brink 81091 82812 Laholms BK
127 G9 907.0 31.49 Roland Andersson - Natale Bellan 30213 26026 Bjarnums BK - Hassleholms BK
1 « E843 Bésta kontrakt 2 s E74 Bésta kontrakt 3 4« E1098 Bésta kontrakt
Nord vE632 6NT N =990 Ost v53 34 OD-1100 Syd v 1083 5v S =450
Ingen + EK4 NS + K863 ov +98
#54 & ¢ v & NT *K854 & ¢ v & NT #EKn82 & ¢ v &a N
a72 «KDKn1065 N 11129 7 12 4 Kn652 4 K1093 N86 657 4632 «KDKn754 N 9 8 116 9
vDKn875 109 S 11129 7 12 vK10764 vDS8 S 85658 vED v2 S 9 8 116 9
¢87652  ¢- 021451 ¢- ¢EDKn1052 O 5 7 7 8 5 476543 ¢ Knl0 04526 3
&7 #DKn982 V21451 #10976 #3 V47685 D94 #7653 V4526 3
49 D8 a-
vK4 v EKn92 v KKn97654
+ DKn1093 ¢ 974 + EKD2
#EK1063 #EDKn2 »K10
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poéang

Gl G15 44D O-3 ¢K 800 120.0

G20 G5 64 S= &7 920 120.0 .
11 18 4v S+1 ¢7 450 81.0 39.

B2 B4 44DO-4 #K 800 118.0

G4 G17 4¢DO-3 4Q 500 120.0
J7 J8 3¢DO-2 #A 300 117.0

0.0 0.0
¢ 2.0 ¢ 3.0

G4 G17 44aDO-3 #K 500 1110 9.0|G19 G2 3¢DO-2 48 300 1170 30| A2 A8 4v S+1 3 450  81.0 39.
D5 D12 54DO-3 #4A 500 111.0 90| D7 D10 44 O-4 v9 200 1140 6.0 F2 F11 4v N+1 4K 450 810 39.
A6 Al 44aDO-3 #4A 500 111.0 9.0| C2 C11 34 O-3 #A 150 1110 90| I3 16 4¢vS+1 ¢3 450  81.0 39.
J7 J8 3aDO-3 #K 500 1110 90| F8 F6 INN+2 ¢5 150 1110 9.0| J3 J6 4v S+1 47 450  81.0 39.
H13 H1 24DO-3 +Q 500 111.0 9.0[A12 A7 3&#N+1 +Q 130 108.0 120| A4 All 4v S+1 46 450  81.0 39.
G16 G8 44DO-3 #4K 500 111.0 90| 19 110 2NN= +Q 120 1050 150| C4 C3 4v S+1 7 450  81.0 39.
E5 E4 3NS+3 2 490 1040 16.0|G20 G5 INN+1 ¢A 120 1050 150| I4 112 4v S+1 46 450  81.0 39.
E7 E1 3NN+2 T 460 1010 19.0| B3 B6 3 N= T 110 101.0 19.0| A5 A7 4v S+1 7 450  81.0 39.
G7 G9 3NS+2 #7 460 1010 190| 14 16 34 N= &3 110 101.0 190| E5 E4 4v S+1 49 450  81.0 39.
I2 15 3BNN+L 4K 430 760 440| I3 111 3¢ O-2 #A 100 950 250| I5 |7 4vS+1 7 450  81.0 39.
J2 J4 3NN+1 &K 430 760 440| B9 Bl 3¢ O-2 4Q 100 950 250| E6 E2 4v S+1 &4 450  81.0 39.
A3 A9 3NN+l &K 430 76,0 44.0(G12 G15 44DO-1 4Q 100 950 25.0| G6 G20 4v S+1 42 450  81.0 39.
B3 B6 3NN+l T 430 760 44.0|G18 GI10 34 O-2 ¥A 100 950 250| C7 C12 4v S+1 #4 450  81.0 39.
J3 J6 3NN+1 &K 430 760 440| F9 F1 INS= &T 90 87.0 33.0| E7 El 4v S+1 &4 450 810 39.
A4 A10 3NN+1 &K 430 76,0 44.0(HI0 H5 INN= ¢Q 90 870 330| F7 FI2 4v S+1 46 450  81.0 39.
14 16 BNN+1L 4K 430 760 440|D11 D6 INN= +T 90 870 33.0| J7 J8 4v S+l 42 450 810 39.
H6 H16 3NN+1 &T 430 760 440|D16 D1 INN= A 90  87.0 33.0( D8 D11 4v S+1 &4 450 810 39.
C7 C12 3NN+l &K 430 760 44.0| J2 J4 3¢ O-1 aQ 50 730 47.0| F8 F6 5vS= &4 450  81.0 39.
D7 D10 3NN+1 &T 430 760 440| A4 Al10 3aV-1 &5 50 730 47.0| G8 G10 4v S+1 7 450 810 39.
F7 F12 3NN+l #Q 430 76.0 440| A5 All 34 O-1 &A 50 730 47.0| H8 H4 4v S+1 a2 450  81.0 39.
I8 114 3NN+1 4K 430 760 440| H6 H16 2¢ O-1 4Q 50 730 470| B9 Bl 4v S+1 3 450  81.0 39.
B9 Bl 3NN+l #2 430 760 440| C7 C12 44 O-1 #A 50 730 470| C9 Cl 4v S+1 #4 450  81.0 39.
C9 C1 3NN+l &K 430 760 44.0| E7 E1 20 O-1 48 50 730 47.0| H9 H14 4v S+1 42 450  81.0 39.
BI0O B5 3NN+l &K 430 760 440| G7 G9 3¢ O-1 #A 50 730 470 J9 J1 4v S+1 42 450  81.0 39.
D11 D6 4NN= T 430 760 44.0| 18 114 20 O-1 #A 50 730 47.0|A10 A9 4v S+1 42 450  81.0 39.
G13 G1 3NN+1 4Q 430 760 440|D14 D3 2¢ O-1 #A 50  73.0 47.0(B10 B5 4v S+1 ¢4 450 810 39.
D14 D3 3NN+l 4K 430 760 440(G16 G8 34 O-1 #A 50 730 47.0|CI10 C5 4v S+l 3 450 810 39.
D15 D2 3NN+l &K 430 760 44.0| B2 B4 20 O= &A -90 550 650|F10 F5 4vS+1 46 450  81.0 39.
D16 D1 3NN+l &K 430 76,0 44.0| G6 G14 2¢ O= 4Q -90 550 650|110 111 4v S+1 46 450  81.0 39.
G18 G10 3NN+l 4K 430 760 440| H7 H3 1¢ O+1 ¢7  -90 550 65.0|G11 G18 4v S+1 42 450  81.0 39.
H18 H4 3NN+l &K 430 760 44.0| C9 Cl 20 O= ¢4  -90 550 650|HI11 H6 4v S+1 ¢3 450  81.0 39.
G19 G2 3NN+1 &T 430 760 440|F10 F5 2¢ O= 2  -90 550 65.0|G12 G4 4v S+1 43 450 810 39.
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C2 C11 5¢ N= 4K 400 50.0 70.0|D13 D4 2¢ O= 4Q 90 55.0 65.0|G1l4 G7 4y S+1 ¢4 450 81.0 39.0
H7 H3 5¢ S= &7 400 50.0 70.0|H14 H8 2¢ O= «Q 90 55.0 65.0|D15 D4 4y S+1 &4 450 81.0 39.0
Al2 A7 5¢ S= 47 400 50.0 70.0|H15 H2 2¢ O= 4Q -90 55.0 65.0|H15 H3 4y S+1 42 450 81.0 39.0
A2 A8 44DO-2 A 300 450 750 A2 A8 3#N-1 +A -100 420 780(H16 H7 4vy S+1 3 450 81.0 39.0
A5 All 44D O-2 vK 300 450 750( J3 J6 3#N-1 vQ -100 420 780(H18 H5 4y S+1 &4 450 81.0 39.0
H14 H8 3¢ S+2 42 150 420 780| D5 D12 3NS-1 v4 -100 420 780| B2 B4 4vy S= 42 420 42.0 78.0
B7 B8 44S= 42 130 39.0 81.0|D15 D2 3# N-1 49 -100 42.0 78.0| B3 B6 2v S+3 #Q 200 38.0 82.0
H9 H17 3¢ N+1 &K 130 39.0 81.0|H18 H4 2NN-1 +Q -100 420 78.0( D6 D13 34 O-2 ¢A 200 38.0 82.0
F8 F6 44 O-2 &7 100 340 860| 12 15 14 O+1 #A -110 29.0 91.0| 19 114 2vS+3 ¢3 200 38.0 82.0
H10 H5 24DO-1 #A 100 340 86.0| A3 A9 3¢ O= 4Q -110 29.0 91.0| D1 D3 6v S-1 4 -50 19.0 101.0
112 17 24 O-2 #A 100 340 86.0| E6 E2 24 V= v3 -110 29.0 91.0| C2 Cl1 6v S-1 42 -50 19.0 101.0
E6 E2 24 O-1 vK 50 30.0 90.0| C8 C6 14 O+1 #A -110 29.0 91.0| J2 J4 6v S-1 42 -50 19.0 101.0
F2 F11 4¢ N-1 &K -50 23.0 97.0| H9 H17 14 O+1 ¢4 -110 290 91.0| A6 A3 6v S-1 ¢3 -50 19.0 101.0
I3 111 34 S-1 &7 50 230 97.0| J9 J1 14 O+1 #A -110 29.0 91.0| B7 B8 6v S-1 46 -50 19.0 101.0
C4 C3 5¢ S-1 a7 -50 23.0 97.0|C10 C5 2¢ O+1 ¢4 -110 290 910 F9 F1 6vS-1 7 -50 19.0 101.0
G6 G14 4¢ S-1 a7 -50 23.0 97.0|Gl1 G3 14 O+1 4Q -110 290 91.0| G9 G16 6v S-1 +6 -50 19.0 101.0
Gll G3 7¢ N-1 &K -50 230 97.0| F2 F11 14 O+2 #A -140 15.0 105.0 |[H10 H17 6v S-1 42 -50 19.0 101.0
G12 G15 64 S-1 &7 -50 23.0 97.0| A6 Al 24 O+1 &A -140 150 105.0(Al12 Al 6v S-1 ¢7 -50 19.0 101.0
C8 C6 6#S-2 a2 -100 10.0 110.0| B7 B8 34 O= A -140 15.0 105.0|D12 D7 6v S-1 42 -50 19.0 101.0
19 110 54D S-1 42 -100 10.0 110.0| F7 F12 34 V= ¢3 -140 15.0 105.0|G13 G2 6v S-1 &4 -50 19.0 101.0
J9 J1 4eDS-1 &7 -100 10.0 110.0| 112 17 14 O+2 vA -140 15.0 1050|113 12 6v S-1 7 -50 19.0 101.0
Cl10 C5 5¢ N-2 T -100 10.0 110.0|H13 H1 14 O+2 ¢4  -140 150 105.0|(D14 D5 6v S-1 ¢3 -50 19.0 101.0
D13 D4 44 S-2 42 -100 10.0 110.0| C4 C3 14 O+3 «Q -170 8.0 112.0|D16 D2 6v S-1 7 -50 19.0 101.0
113 11 66 S-2 a7 -100 10.0 110.0| E5 E4 4#N-2 vQ -200 5.0 115.0|G17 G5 6v S-1 +¢6 -50 19.0 101.0
H15 H2 54DN-1 «K -100 10.0 110.0({B10 B5 3NN-2 ¢Q -200 5.0 115.0|G19 G3 6v S-1 7 -50 19.0 101.0
FO F1 24DO= &K -470 2.0 118.0(G13 G1 2¢DO+14Q -280 1.0 119.0| C8 C6 6vyDS-1 ¢2 -100 2.0 118.0
F10 F5 54DS-5 47 -1100 0.0 120.0| 113 11 2¢DO+14Q -280 1.0 119.0 ([H13 H2 7¢vyDS-2 ¢7 -300 0.0 120.0
F4 - 67.8 F4 - 67.8 H1 - 51.6
D8 - 53.1 D8 - 53.1 F4 - 67.8
- E3 45.4 - E3 454 - E3 454
J10 - 44.7 J10 - 44.7 - D10 433
- H11 69.0 - H11 69.0 | J10 - 44.7
4 4 Kn10743 Basta kontrakt 5 .- Basta kontrakt 6 & K986 Basta kontrakt
Vast vK 6¢ V D -3800 Nord vED10862 3v S =140 Ost v K765 44 O =-130
Alla ¢ Kn632 NS + K75 ov ¢ E932
#1082 & ¢ v & NT #Kn973 & ¢ v & NT »5 & ¢ v & NT
4 EK952 4D8 N 124 115 5 4 DKn8754 & E N57 88 8 4 EKn105 «D7 N386 65
v32 v 10764 S 124 115 5 v K95 v74 S57 987 v8 vD10432 S3866°5
¢+ D10954 ¢ EK87 019265 +10 ¢ DKn986 085454 + K106 ¢ D7 O 105 7 7 8
3 #DKn6 V19261 #E105 +KD864 V85455 #EKn642 #D983 vV 105 7 7 7
46 » K109632 4432
v EDKn985 vKn3 v EKn9
¢- ¢ E432 + Kn854
#EK9754 *2 «K107
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poang
F8 F12 54DV -5 vK 1400 1200 00| Cl1 C7 54DV-5 vA 1100 120.0 0.0|{G20 G7 24 V-2 &5 200 1200 0.0
A4 A1l 3vyDS+2 «T 1130 1180 20(G20 G7 54DO-4 vJ 800 1180 20| 113 13 3¢ S= #A 110 1170 3.0
Al2 Al 44DS+1 A 910 1160 4.0| 114 110 4v N+1 #»Q 650 116.0 4.0|G18 G12 2¢ S+1 8 110 1170 3.0
H10 H17 5vDS= «A 850 1140 6.0( B9 B2 3NN+1 #4 630 1140 60| H2 H1 2¢0O-1 5 100 1120 8.0
113 12 5¢DO-3 «A 800 112.0 80| J8 Jl1 54DO-3 vJ 500 111.0 9.0| D7 D14 540-1 42 100 112.0 8.0
G9 G16 3vDS= &3 730 110.0 10.0|G10 G16 54DO-3 ¢A 500 111.0 9.0|G14 G8 INO-1 ¢4 100 1120 8.0
D1 D3 5vS= ¢4 650 940 26.0| B4 B7 34DV-2 vA 300 1050 15.0| G4 G19 INS= 8 90 108.0 12.0
11 18 4v S+1 4K 650 940 260| C5 C4 540-6 ¥3 300 1050 15.0| F8 F12 2v N-1 4Q -50 104.0 16.0
A2 A8 4y S+1 &A 650 940 26.0| F8 F12 54V-6 ¢5 300 1050 15.0| J9 J2 34 N-1 43 -50 104.0 16.0
B4 B7 4v S+1 #K 650 94.0 26.0|H14 H10 34DV-2 vA 300 1050 15.0|B10 B6 3¢ N-1 £Q -50 104.0 16.0
F5 F4 4v S+1 &A 650 940 26.0| H4 H15 44 V-5 &7 250 98.0 22.0| A7 A4 1la V= &5 -80 100.0 20.0
I5 17 4vS+1 #A 650 940 26.0| J4 J7 3¢ V-5 vJ 250 98.0 220 Cl1 C7 24V +1l 48 -110 82.0 38.0
G6 G20 4v S+1 &4A 650 94.0 26.0|H17 H11 44 V-5 &7 250 98.0 220| E1 E3 2#V+l 46 -110 82.0 38.0
B8 Bl 4v S+1 &A 650 940 26.0| F1 F7 540-4 ¢3 200 87.0 330| F1 F7 1laV+l1 &5 -110 820 38.0
B9 B2 4v S+1 &K 650 940 260( D2 D4 34 V-4 vA 200 87.0 33.0| G1 G5 3#0= 43 -110 82.0 38.0
FO9 F2 4v S+1 4K 650 940 26.0| H2 Hl 34V-4 &7 200 87.0 33.0| 12 19 340= ¢A -110 820 38.0
H11 H6 4v S+1 &3 650 940 26.0| A3 A9 540-4 v3 200 87.0 33.0| A3 A9 2&#V+l 46 -110 82.0 38.0
D12 D7 4v S+1 &4A 650 940 26.0| G4 G19 3v N+2 &K 200 87.0 33.0| B3 B5 2#V+l1 ¢A -110 820 38.0
G12 G4 4vy N+1 &K 650 940 26.0| 16 18 540-4 vJ 200 87.0 33.0| A5 Al 24 0+1 ¢2 -110 82.0 38.0
H15 H3 4v S+1 #3 650 940 26.0| D7 D14 44 V-4 +5 200 87.0 33.0| 16 18 24V+1 ¢A -110 82.0 38.0
G19 G3 4vy S+1 &«A 650 94.0 26.0|D13 D8 5#0-4 vJ 200 87.0 33.0| E7 E2 24V +1 3 -110 82.0 38.0
F1 F7 4vS= &K 620 780 420| D1 D5 5#40-3 vJ 150 69.0 51.0| B8 Bl 3#V= v5 -110 82.0 38.0
C5 C4 5#S= &4A 600 740 46.0| E1 E3 34V-3 45 150 69.0 51.0| F9 F2 3«#V= ¢A -110 820 38.0
C8 Cl12 5#S= «A 600 740 46.0( B3 B5 44 V-3 vA 150 69.0 51.0|F10 F6 2V +1l 46 -110 82.0 38.0
G11 G18 54 S= 4K 600 740 46.0| F5 F4 5#V-3 vA 150 69.0 51.0| 111 112 2#V+1 ¢A -110 82.0 38.0
Gl G15 3v S+2 4K 200 61.0 59.0| E6 E5 5#40-3 ¥3 150 69.0 51.0|A12 A2 2&#V+1l 46 -110 82.0 38.0
C3 C11 3vy S+2 «A 200 61.0 59.0| G9 G11 44 0-3 vJ 150 69.0 51.0|D15 D6 3#V= #5 -110 820 38.0
Ja4  J7 3vS+2 &K 200 61.0 59.0|B10 B6 44 V-3 vA 150 69.0 51.0|D16 D3 3#V= v6 -110 82.0 38.0
A5 A7 3vy S+2 &4A 200 61.0 59.0|C10 C6 5#0-3 ¥3 150 69.0 51.0| D1 D5 2NV= ¢2 -120 59.0 61.0
E5 E4 3vS+2 &4A 200 61.0 59.0|D10 D11 54 O0-3 vJ 150 69.0 51.0( A6 A8 INO+1 8 -120  59.0 61.0
J8 J1 34DV-1 vK 200 61.0 59.0| 111 112 3¢ O-3 vJ 150 69.0 51.0| G6 G17 INV+1 3 -120  59.0 61.0
A10 A9 34DV-1 vK 200 61.0 59.0| 12 19 3vy N= +Q 140 55.0 65.0| B9 B2 INV+l1 +¢2 -120 59.0 61.0
F10 F6 2v S+3 #3 200 61.0 59.0| E7 E2 3v N= &A 140 550 65.0| H9 H5 INO+1 5 -120 59.0 61.0
G13 G2 4¢ O-2 &#A 200 61.0 59.0|F10 F6 2v S+1 ¢6 140 55.0 65.0|H16 H8 INO+1 ¢4 -120 59.0 61.0
H18 H5 3v S+2 #3 200 61.0 59.0| A1l A10 3v N= &A 140 55.0 65.0| D2 D4 44 O= 438 -130 34.0 86.0
G8 G10 4#S+1 «+A 150 470 730 H9 H5 2¢S= T 110 49.0 710| C3 Cl11 3#V+1l ¥5 -130 34.0 86.0
H8 H4 44 S+1 &K 150 47.0 73.0(A12 A2 24 S= +T 110 49.0 71.0| H4 H15 24V +2 8 -130 34.0 86.0
H13 H2 44 S+1 A 150 470 73.0| C8 Cl12 44V-2 &3 100 430 770 14 17 34 0+1 42 -130 34.0 86.0
D15 D4 44 S+1 &A 150 470 73.0(J10 J6 4e V-2 vA 100 430 770( J4 J7 4+V= &5 -130 340 86.0
A6 A3 34V-1 vK 100 330 87.0({Gl14 G8 44 0-2 vJ 100 430 770 C5 C4 24V +2 9 -130 34.0 86.0
D6 D13 4¢ V-1 vK 100 33.0 87.0|G18 G12 54DV -1 vA 100 430 770( I5 11 24V+2 ¢A -130 340 86.0
E6 E2 44 V-1 vK 100 33.0 87.0| 14 17 440-1 vJ 50 350 85.0| E6 E5 3#V+l1 ¢A -130 34.0 86.0
E7 E1 34 O-1 vA 100 33.0 87.0| G6 G17 5#V-1 vA 50 35,0 85.0( H6 H18 3V +1l 46 -130 34.0 86.0
C9 C2 3¢ V-1 vK 100 33.0 87.0|D16 D3 3#0-1 vJ 50 350 85.0| C8 C12 24V+2 ¢A -130 34.0 86.0
19 114 4¢ O-1 &K 100 33.0 87.0(H16 H8 34 V-1 vA 50 350 85.0| C9 C2 2#V+2 +¢3 -130 34.0 86.0
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B10 B6 3¢+ O-1 &#A 100 33.0 870 G1 G5 4vy N-1 &K -100 24.0 96.0| G9 G11 24V +2 +3 -130 34.0 86.0
JI0O J6 3NO-1 &A 100 33.0 87.0( C3 C11 34 S-1 T -100 24.0 96.0|C10 C6 26V +2 w7 -130 34.0 86.0
Gl4 G7 3NO-1 &K 100 33.0 87.0( A6 A8 3v N-1 &A -100 240 96.0(J10 J6 24V +2 +A -130 34.0 86.0
H16 H7 4¢ O-1 &K 100 33.0 87.0( B8 Bl 3v N-1 &A -100 24.0 96.0|D13 D8 3« V+l1 3 -130 34.0 86.0
14 112 2¢ O= &A 90 22.0 98.0| J9 J2 3vy N-1 &6 -100  24.0 96.0|H13 H3 2&V+2 +A -130 34.0 86.0
H9 H14 3v S-1 &K -100 19.0 101.0|H13 H3 4vy N-1 &A -100 24.0 96.0|H14 H10 34 O+1 +5 -130 34.0 86.0
D14 D5 6v S-1 &3 -100  19.0 101.0 |G15 G2 3y N-1 &A -1000 24.0 96.0| 114 110 2V +2 3 -130 34.0 86.0
Cl C7 3¢ V= &2 -110 12.0 108.0|G13 G3 3 O= vJ -110 16.0 104.0|G15 G2 3V +1 &3 -130 34.0 86.0
B3 B5 3¢ O= #A -110  12.0 108.0| A7 A4 24 S-2 T -200 12.0 108.0| F5 F4 24V +3 &9 -150 9.0 111.0
D8 D11 3¢ O= &A -110  12.0 108.0| 113 I3 3¢ S-2 &A -200 12.0 108.0| J8 J1 3¢ N-3 «Q -150 9.0 111.0
J9 J2 3¢ O= &A -110 12.0 108.0|D15 D6 4y S-2 &A -200 12.0 108.0 |D10 D11 2%V +3 +¢2 -150 9.0 111.0
Cl10 C6 3¢ V= &2 -110 12.0 108.0 I5 11 3v N-3 &A -300 7.0 113.0 |All A10 INO+2 &7 -150 9.0 111.0
I3 16 3v S-2 &A -200 50 115.0| C9 C2 4vy N-3 &A -300 7.0 113.0|(G13 G3 2NV+1 ¢3 -150 9.0 111.0
110 111 64S-2 «Q -200 50 1150| F9 F2 3a4DV= vA -470 4.0 116.0 [H17 H11 3v N-3 &8 -150 9.0 111.0
D16 D2 24DV = &2 -670 2.0 118.0| A5 Al 4vyDN-2 &K -500 1.0 119.0 (G10 G16 2vyDN-2 &3 -300 2.0 118.0
Gl17 G5 3NDO= &K -750 0.0 120.0| H6 H18 4vyDN-2 4 A -500 1.0 119.0| B4 B7 3NV= +3 -600 0.0 120.0
H1 - 51.6 - Fl11 64.8 - Fl11 64.8
- Fl11 64.8| J3 - 57.3 J3 - 57.3
J3 - 57.3 E4 - 66.4 E4 - 66.4
- E3 45.4 - D12 53.0 - D12 53.0
- D10 43.3 - H7 60.4 - H7 60.4
7 41082 Basta kontrakt 8 «ED2 Basta kontrakt 9 & EK1053 Basta kontrakt
Syd v Kn10843 34 S =140 Vast v Kn874 2NTV =-120 Nord v KKn1053 64 N =980
Alla + EKn9 Ingen + D852 ov + K62
&K7 & ¢ v & NT &62 & ¢ v & NT &»- & ¢ v & NT
476 s K4 N55 89 8 4Knl053 487 N5 47 65 497 & Kn8 N 5 7 12125
v E65 v D72 S55898 vE10 v D65 S547665 v82 v D4 S 5 7 12125
4108 ¢+ KD732 088545 +K ¢+ EKn10764 O 8 8 5 7 8 + E10987 ¢ Kn3 086113
&#E108654 #D92 V87534 #DKn8543 &E7 V8 857 8 10853 #EKKn9642 V 8 6 1 1 3
& EDKN953 & K964 & D642
v K9 v K932 v E976
¢ 654 +93 + D54
&Kn3 K109 &D7
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
G2 G6 44 S= +T 620 1190 1.0|G19 G5 3NO-4 ¥4 200 120.0 0.0| A8 Al10 64 N= +v4 980 120.0 0.0
A6 A2 44 S= &7 620 119.0 10| B9 B3 2NV-3 v4 150 1150 5.0| C1 C12 54D O -3 4 800 117.0 3.0
J4 J6 54DV-2 42 500 116.0 4.0|H10 H6 3NO-3 ¥3 150 115.0 5.0|G16 G12 54D O-3 «2 800 117.0 3.0
A4 A10 44V -3 &8 300 113.0 7.0|D11 D12 5« V-3 v7 150 1150 50| E1 E6 44 N+2 &A 480 83.0 37.0
E6 E5 3NO-3 &A 300 113.0 7.0|F11 F4 3NO-3 ¥2 150 1150 5.0 11 12 4v N+2 &A 480 83.0 37.0
I5 18 3¢ O-2 &#J 200 109.0 11.0| D3 D5 5#V-2 &A 100 107.0 13.0| J1 J2 44 N+2 +J 480 83.0 37.0
H15 H5 24 S+3 T 200 109.0 11.0| B4 B6 3¢ O-2 ¢3 100 107.0 13.0| A2 Al 44 N+2 &A 480 83.0 37.0
Al All 24 S+2 &A 170 93.0 27.0( A7 A9 3NV-2 ¢7 100 107.0 13.0| E2 E4 44 N+2 &A 480 83.0 37.0
D2 D6 24 N+2 ¢K 170 930 270( E7 E2 2NV-2 v7 100 107.0 13.0| F2 F8 44 N+2 +J 480 83.0 37.0
D3 D5 24 S+2 &8 170 93.0 270 D1 D7 3#0-1 +¢9 50 90.0 30.0| G2 G18 44 N+2 &K 480 83.0 37.0
B4 B6 24 S+2 ¢33 170 93.0 270 J1 J2 3¢ O-1 3 50 90.0 30.0f G3 G7 54 N+1 &K 480 83.0 37.0
B5 B8 24 S+2 ¢T 170 93.0 270 H3 H2 3#V-1 +¢5 50 90.0 30.0( B4 B6 44 N+2 &A 480 83.0 37.0
F6 F5 34 S+1 &A 170 93.0 27.0 I3 110 3NO-1 #3 50 90.0 30.0 14 111 44 N+2 &A 480 83.0 37.0
16 12 34 S+1 ¢T 170 93.0 27.0 16 12 3#V-1 v7 50 90.0 30.0( F6 F5 44 N+2 &A 480 83.0 37.0
A8 A5 24 S+2 T 170 93.0 27.0 17 19 3NO-1 #4 50 90.0 30.0 16 19 44 N+2 w4 480 83.0 37.0
B9 B3 24 S+2 &A 170 93.0 270 C9 C3 3NO-1 v2 50 90.0 30.0( A7 A3 44 N+2 &A 480 83.0 37.0
J9 J3 24 S+2 &A 170 93.0 27.0(G10 G12 3NO-1 46 50 90.0 30.0( E7 E3 4vy N+2 &K 480 83.0 37.0
F10 F7 24 S+2 T 170 93.0 27.0(C1l1 C4 3NO-1 46 50 90.0 30.0 17 13 464 N+2 &A 480 83.0 37.0
Al2 A3 34 S+1 &A 170 93.0 27.0( 112 11 2¢ O-1 &6 50 90.0 30.0( A9 A6 4v N+2 &A 480 83.0 37.0
Gl4 G9 24 S+2 9vA 170 93.0 27.0|H13 H4 3NV-1 7 50 90.0 30.0( B9 B3 44 S+2 v2 480 83.0 37.0
G16 G11 34 S+1 &A 170 93.0 27.0(H14 H11l 3¢ O-1 3 50 90.0 30.0f C9 C3 44 N+2 &K 480 83.0 37.0
D1 D7 24 S+1 T 140 62.0 58.0(G16 G11 2¢ O-1 3 50 90.0 30.0( J9 J3 44 N+2 &A 480 83.0 37.0
F1 F12 24 S+1 T 140 62.0 58.0| D2 D6 Pass 740 46.0(B10 B7 4v S+2 &K 480 83.0 37.0
J1 J2 24 S+1 T 140 62.0 58.0( B5 B8 Pass 740 46.0(F10 F7 4y N+2 &A 480 83.0 37.0
C6 C5 3a4S= +8 140 62.0 58.0(B10 B7 Pass 74.0 46.0 [H10 H16 44 N+2 &A 480 83.0 37.0
A7 A9 3a4 S= +8 140 62.0 58.0| 113 14 2v N-1 #A -50 70.0 50.0|A12 A4 44 N+2 &A 480 83.0 37.0
H7 H18 24 S+1 &A 140 620 580 F2 F8 2¢ O= v2 90 61.0 59.0|D12 D13 44 N+2 A 480 83.0 37.0
17 19 34 S= T 140 62.0 58.0 I5 18 2¢ O= 3 90 61.0 59.0|G13 G5 44 N+2 &A 480 83.0 37.0
B10 B7 24 S+1 48 140 62.0 58.0( AB A5 2¢ O= 46 90 61.0 59.0|H13 H5 44 N+2 &A 480 83.0 37.0
Cl0 C7 24 S+1 8 140 62.0 58.0( G8 G20 2¢ O= 3 90 61.0 59.0| 113 I5 44 N+2 &K 480 83.0 37.0
D10 D13 24 S+1 T 140 62.0 58.0(F10 F7 2¢ O= 2 90 61.0 59.0|G14 G10 44 N+2 A 480 83.0 37.0
H10 H6 24 S+1 T 140 62.0 58.0| 114 111 2¢ O= 46 90 61.0 59.0|G15 G4 44 N+2 &K 480 83.0 37.0
112 11 24 S+1 T 140 62.0 58.0 (D16 D4 2 V= v7 90 61.0 59.0|D16 D5 44 N+2 &A 480 83.0 37.0
G1l3 G4 24 S+1 8 140 62.0 58.0(H16 H9 2¢ O= 2 90 61.0 59.0|G17 G8 44 N+2 &K 480 83.0 37.0
113 14 24 S+1 T 140 62.0 58.0| Al All 3¢ O= 44 -110 45.0 75.0|H17 H1l 4v N+2 &A 480 83.0 37.0
114 111 24 S+1 &A 140 62.0 58.0( E1 E3 3¢ O= 2 -110 45.0 75.0| C2 C8 44 N+1 &K 450 31.0 89.0
Gl5 G3 24 S+1 &A 140 62.0 58.0( F1 F12 2¢ O+1 4 -110 45.0 75.0| D2 D8 44 N+1 &A 450 31.0 89.0
G19 G5 34 S= ¢T 140 62.0 58.0| A4 Al10 3% V= &2 -110 45.0 75.0| D4 D6 44 N+1 &A 450 31.0 89.0
E1l E3 24 S= T 110 40.0 80.0| A6 A2 3#aV= +8 -110 45.0 75.0| H4 H3 44 N+1 &A 450 31.0 89.0
C2 C8 24 S= +8 110 40.0 80.0| C6 C5 2¢ O+1 3 -110 45.0 75.0| B5 B8 44 N+1 &A 450 31.0 89.0
H3 H2 24 S= T 110 40.0 80.0(G13 G4 3¢ O= 9 -110 45.0 75.0| C6 C5 44 N+1 &K 450 31.0 89.0
G8 G20 24 S= T 110 40.0 80.0|G14 G9 3¢ O= ¥2 -110 45.0 75.0| G6 G19 4y N+1 &K 450 31.0 89.0
D11 D12 24 S= T 110 40.0 80.0| H1I H8 2NV= v4 -120 34.0 86.0 18 110 44 N+1 &K 450 31.0 89.0
Bl B2 3&V-1 42 100 31.0 89.0| C2 C8 2NO= v2 -120 34.0 86.0|C10 C7 4v N+1 &K 450 31.0 89.0
Gl G18 3#V-1 T 100 31.0 89.0(G15 G3 2NO= 43 120 34.0 86.0|J10 J7 44 N+1 &K 450 31.0 89.0
D8 D15 44 V-1 &2 100 31.0 89.0 G2 G6 3« V+1l &A -130  27.0 93.0|C1l1 C4 44 N+1 &A 450 31.0 89.0
H14 H11 44 V-1 T 100 31.0 89.0| E6 E5 4#V-= s A -130 27.0 93.0|D11 D14 4v N+1 &A 450 31.0 89.0
I3 110 28 V= a2 90 26.0 940(|C10 C7 3¢ O+1 3 -130 270 93.0(F11 F4 44 N+1 &A 450 31.0 89.0
F2 F8 34 S-1 T -100  17.0 103.0 |D10 D13 4& V= a2 -130  27.0 93.0|G11 G1 44 N+1 &K 450 31.0 89.0
E7 E2 34 S-1 T -100  17.0 103.0 |H15 H5 2NV +1 v4 -150 22.0 98.0|H11 H7 46 N+1 &K 450 31.0 89.0
C9 C3 34 S-1 T -100 17.0 103.0| G1 G18 3INO= ¥v2 -400 14.0 106.0| 112 114 44 N+1 &A 450 31.0 89.0
Cll C4 34 S-1 T -100 17.0 103.0| J4 J6 3NV= v8 -400 14.0 106.0 |D15 D10 44 N+1 &A 450 31.0 89.0
F11 F4 34 S-1 T -100 17.0 103.0| H7 H18 3NO= v2 -400 14.0 106.0 |H15 H6 44 N+1 &A 450 31.0 89.0
H13 H4 34 S-1 T -100 17.0 103.0| D8 D15 3NO= 3 -400 14.0 106.0 |H18 H8 44 N+1 &A 450 31.0 89.0
D16 D4 34 S-1 38 -100  17.0 103.0| J9 J3 3NO= ¥K -400 14.0 106.0 |G20 G9 44 N+1 &A 450 31.0 89.0
H16 H9 44 S-1 T -100 17.0 103.0|J10 J7 3NO= «4 -400 14.0 106.0| J4 J6 44 N= A 420 10.0 110.0
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Cl C12 44 S-2 &A -200 6.0 114.0|A12 A3 3NO= v7 -400 14.0 106.0| B1 B2 54 0-3 vA 300 7.0 113.0
H1 H8 34 S-2 a7 -200 6.0 114.0| B1 B2 3NO+1 &4 -430 4.0 116.0| H2 H9 54 0-3 44 300 7.0 113.0
J10 J7 24 S-2 &8 -200 6.0 1140 F6 F5 3NV+1 w7 -430 4.0 116.0| F1 F12 54 0-2 vA 200 3.0 117.0
G7 G17 44D S-2 &A -500 1.0 1190 G7 G17 3NV +1 v7 -430 40 116.0| D3 D7 540-2 v6 200 3.0 117.0
G10 G12 44DS-2 ¢38 -500 1.0 1190 C1 C12 3NV +2 w7 -460 0.0 120.0| A5 All 54V-1 42 100 0.0 120.0
E4 - 66.4 E4 - 66.4 - J8 60.8
- J8 60.8 - J8 60.8 - E5 70.4
F9 - 64.4 F9 - 64.4 - D1 71.7
D14 - 61.2 D14 - 61.2 F9 - 64.4
H17 - 65.9 H17 - 65.9 H14 - 69.3
10 # Kn1098643 Basta kontrakt 11 + 102 Basta kontrakt 12 « D107 Basta kontrakt
Ost v8 ANT O =-630 Syd v D82 5v V =-450 Vast v D962 44 V =-420
Alla 49532 Ingen ¢ EKn3 NS + 10976
&10 & ¢ v & NT &E10974 & ¢ v & NT &D3 & ¢ v & NT
& EK7 452 N45373 «EKN86 4K9 N6 2242 4 K9842 &Kn65 N46 435
v72 vEK10954 S 4 5 3 7 3 vE976 vKKnl10 S6 2242 v1087 vEKKn5 S46 435
¢+ EK4 + D87 O 9 8 106 10 + D95 + K10762 O 7 11119 8 ¢ K543 48 O9 7 9 108
#K8652 #D3 V 9 8 106 10 #K6 &#Kn53 vV 7 11119 8 &E #KKn976 V9 7 9 108
D 4 D7543 &E3
v DKn63 v543 v43
+ Kn106 + 84 + EDKn2
&EKN974 &D82 #108542
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
B5 B7 3NV-3 4J 300 1200 00| H5 H4 3NO-3 #4 150 120.0 0.0 12 13 44 V-2 #Q 100 1180 2.0
A2 Al 3NV-2 &3 200 117.0 3.0| H3 H10 3NV-2 #4 100 114.0 6.0|A12 A5 44 V-2 +T 100 1180 2.0
F11 F5 6v O-2 46 200 117.0 3.0 17 110 3NV-2 &T 100 114.0 6.0|H16 H11l 44 V-2 #Q 100 118.0 2.0
B2 B3 3NO-1 4J 100 103.0 17.0 19 111 3NO-2 «2 100 1140 6.0 E2 E4 44 V-1 o7 50 109.0 11.0
D3 D7 5¢0-1 &A 100 103.0 17.0|C10 C8 3NV-2 &T 100 1140 6.0 D4 D8 3NO-1 2 50 109.0 11.0
G3 G7 3NV-1 «J 100 103.0 17.0|D13 D14 3NO-2 43 100 1140 6.0| F7 F6 3v O-1 &A 50 109.0 11.0
C7 C6 5v0-1 «Q 100 103.0 17.0| B2 B3 4v O-1 A 50 95.0 25.0(C12 C2 3NV-1 T 50 109.0 11.0
F7 F6 3NV-1 «T 100 103.0 17.0| C3 C1 3NV-1 &4 50 95.0 25.0(D16 D6 2v O-1 v4 50 109.0 11.0
H11 H7 3NV-1 4J 100 103.0 17.0| D4 D8 5¢ O-1 &2 50 95.0 25.0(G17 G9 3NO-1 2 50 109.0 11.0
112 114 5v O-1 +J 100 103.0 17.0| D5 D7 3NO-1 &2 50 95.0 25.0( D1 D11 2v O= &A -110 98.0 22.0
G13 G5 3NV-1 «J 100 103.0 17.0| B6 Bl 4v V-1 &A 50 95.0 25.0( J2 J3 3#0= v4 -110 98.0 22.0
G14 G10 3NV-1 #T 100 103.0 17.0| J6 J1 3NO-1 &3 50 95.0 25.0( B6 Bl 2v O= ¢J -110 98.0 22.0
D15 D10 4v O-1 &A 100 103.0 170| E7 E3 4v V-1 #4 50 95.0 25.0 19 111 14 V+1 w2 -110 98.0 22.0
D16 D5 3NV-1 4J 100 103.0 170| F7 F6 4v V-1 &4 50 95.0 25.0(G12 G2 24 V= *T -110 98.0 22.0
H18 H8 5v O-1 «Q 100 103.0 17.0| A8 A4 3v V-1 T 50 95.0 25.0| H2 H17 2NV = v2 -120  90.0 30.0
H2 H9 34 N-1 YA -100 90.0 30.0|G10 G20 3NV-1 &T 50 95.0 25.0( E7 E3 2NV= *7 -120 90.0 30.0
14 111 2v O+1 &A -140 87.0 33.0|Cl12 C2 3NV-1 «4 50 95.0 25.0(B10 B8 2NO= ¢J -120  90.0 30.0
H15 H6 3v O= T -140 87.0 33.0| 113 16 3NV-1 &4 50 95.0 25.0( A3 A2 34 V= &Q -140 740 46.0
El E6 2NV +1 8 -150 84.0 36.0|G17 G9 3NV-1 4 50 95.0 25.0( H3 H10 24 V+1 +v6 -140 74.0 46.0
G20 G9 3vO+1 «Q -170 820 38.0(G18 G3 3NV-1 &9 50 950 25.0( G4 G8 24 V+1 9 -140 74.0 46.0
D4 D6 34 N-2 vA 200 79.0 41.0|A12 A5 INV= &4 -90 80.0 40.0| B5 B7 24 V+1 T -140 74.0 46.0
J9 J4 34 N-2 vA -200 79.0 41.0| E2 E4 26 V= &A -110 73.0 47.0 I5 112 14 V+2 v6 -140 74.0 46.0
D2 D8 3NV= & -600 70.0 500| G4 G8 2v V= a2 -110  73.0 47.0| A9 All 14 V+2 #Q -140 74.0 46.0
A5 A1l 3NV= &T -600 70.0 50.0|G12 G2 24 V= &A -110 73.0 470| C9 C4 34 O= v4 -140 74.0 46.0
E7 E3 3NV= 46 -600 70.0 50.0|H14 H1 2¢ O+1 2 -110 73.0 470( F9 F4 24 V+1 &Q -140 740 46.0
A9 A6 3NV= a3 -600 70.0 50.0|H15 H7 2¢ V+1 &T -110  73.0 47.0| J9 J4 34 V= *T -140 74.0 46.0
C9 C4 3NV= &) -600 70.0 50.0|H18 H9 3¢ O= +38 -110 73.0 47.0(D12 D15 24 V+1 &Q -140 740 46.0
Cl10 C8 3NV= T -600 70.0 50.0| A3 A2 INO+1 3 -120 65.0 55.0|G13 G6 24 V+1 #Q -140 740 46.0
J10 J8 3NV= &J -600 70.0 50.0|F11 F5 2NV= &4 -120  65.0 55.0|H15 H7 34 V= &Q -140 740 46.0
11 12 49 0= +¢6 -620 44.0 76.0|F12 F2 3¢ O+1 &T -130 61.0 59.0|G18 G3 24 V+1 T -140 74.0 46.0
J2 J3 4v 0= &Q -620 440 76.0|G15 G5 3¢ O+1 #Q -130 61.0 59.0 11 114 14 V+3 v6 -170 45.0 75.0
C3 Cl 4vy0= &Q -620 440 76.0| E1 E6 3v V= T -140 51.0 69.0| C3 Cl 34 V+1l v2 -170 45.0 75.0
H4 H3 4v V= &T -620 44.0 76.0 11 114 29 V+1 &T -140 51.0 69.0| D5 D7 24 V+2 T -170  45.0 75.0
G6 G19 4vO= «Q -620 440 76.0 12 13 29 V+1 &T -140 51.0 69.0| H5 H4 34 V+1 v6 -170 45.0 75.0
J6 Jl 4v 0= 4Q -620 440 76.0| J2 J3 2y V+1 T -140 51.0 69.0| J6 J1 24 V+2 T -170 45.0 75.0
A7 A3 4v 0= &) 620 44.0 76.0| B5 B7 2v V+1 T -140 51.0 69.0| C7 C6 24 O+2 ¢3 -170  45.0 75.0
17 13 49 0= ¢J -620 44.0 76.0 15 112 3v V= &A -140 51.0 69.0 17 110 34 O+1 ¥2 -170 45.0 75.0
A8 A10 4y O= «Q -620 440 76.0|Cl1 C5 2v V+1l &T -140 51.0 69.0| A8 A4 24 V+2 v6 -170 45.0 75.0
18 110 4v O= &Q -620 440 76.0|G19 G7 3v V= &A -140 51.0 69.0 18 14 14 V+3 w2 -170  45.0 75.0
B9 B4 49y 0= &«Q -620 440 76.0( D1 D11 2¢ O+3 &2 -150 40.0 80.0|J10 J8 34 V+1l 46 -170 45.0 75.0
F10 F8 4v O= T -620 44.0 76.0|H13 H6 INV+2 &4 -150 40.0 80.0|C11 C5 34 V+l v6 -170 45.0 75.0
H10 H16 4v O= 4Q -620 44.0 76.0|G14 G11 2NO+1 4 -150 40.0 80.0|F12 F2 24 V+2 46 -170 45.0 75.0
Cll1 C5 4v0O= «Q -620 440 76.0|/A10 A7 3v V+1l &T -170 33.0 87.0|D13 D14 24 V+2 #Q -170 45.0 75.0
Gll Gl 4v 0= 4Q -620 44.0 76.0|D12 D15 2v V+2 &A -170  33.0 87.0| 113 16 24 V+2 v6 -170 45.0 75.0
Al2 A4 49 O= 4Q -620 440 76.0|G13 G6 2y V+2 4T -170  33.0 87.0|H14 H1l 24 V+2 49 -170 45.0 75.0
Cl2 C2 4v O= ¢J -620 44.0 76.0|D16 D6 3y V+1 T -170  33.0 87.0|G15 G5 24 V+2 +¢2 -170 45.0 75.0
H13 H5 4v O= 4Q -620 440 76.0| H2 H17 INV+3 &4 -180 25.0 95.0| E1 E6 3¢ N-2 vA -200  27.0 93.0
113 I5 49y 0= 4Q -620 440 76.0/B10 B8 INO+3 43 -180 25.0 95.0|H13 H6 2¢ S-2 &A -200  27.0 93.0
G2 G18 3NV +1 & -630 16.0 104.0|D10 D2 INO+3 43 -180 25.0 95.0|F10 F8 3NO= ¢J -400 24.0 96.0
B6 Bl 3NV+1l &8 -630 16.0 104.0|F10 F8 INO+3 43 -180 25.0 95.0| A6 Al 4e V= v6 -420 13.0 107.0
16 19 3NV+1 &J -630 16.0 104. J9 J4 3NO= &4 -400 19.0 101.0| B9 B4 4e V= *T -420 13.0 107.0
B10 B8 3NV+1 &J -630 16.0 104.0 |H16 H11 3NV= &4 -400 19.0 101.0 [A10 A7 44 V= *T -420 13.0 107.0
D11 D14 3NV +1 &9 -630 16.0 104.0| F9 F4 4y V= T -420 16.0 104.0|C10 C8 44 V= &3 -420 13.0 107.0
D12 D13 3NV +1 & -630 16.0 104.0| A6 Al 3NV +1 &4 -430 10.0 110.0 |D10 D2 4e V= v2 -420 13.0 107.0
F12 F2 3NV +1 &T -630 16.0 104.0| C7 C6 3NV +1 &7 -430 10.0 110.0 |G10 G20 44 O= #Q -420 13.0 107.0
Gl15 G4 3NV+1l 2 -630 16.0 104.0 18 14 3NV+1 &7 -430 10.0 110.0|F11 F5 4e V= *T -420 13.0 107.0
G16 G12 3NV +1l oT -630 16.0 104.0| C9 C4 3NV+l &4 -430 10.0 110.0 |G14 G11 4e V= *T -420 13.0 107.0
E2 E4 4¢vDO= «Q -790 5.0 115.0(J10 J8 3NO+1 43 -430 10.0 110.0 |G16 G1 44 V= v2 -420 13.0 107.0
F9 F4 4¢DO= 4Q -790 5.0 115.0| B9 B4 3NV +2 &7 -460 4.0 116.0 |H18 H9 4e V= *T -420 13.0 107.0
G17 G8 44DN-3 vK -800 2.0 118.0| A9 A1l 3NO+3 &3 -490 2.0 118.0| B2 B3 3NO+1 &8 -430 1.0 119.0
H17 H1 3vDO+14Q -930 0.0 120.0 |G16 G1 24DS-5 ¢Q -1100 0.0 120.0 |[G19 G7 3NO+1 &4 -430 1.0 119.0
- F1 64.9| D3 - 56.8 D3 - 56.8
- J7 73.2 - F1 64.9 - F1 64.9
- E5 70.4 - J7 73.2 - J7 73.2
- D1 71.7 - E5 70.4 - E5 70.4
H14 - 69.3 - H8 65.8 - H8 65.8
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13 & Kn643
Nord vE108
Alla + D32
&ED3
41095 & K87
v K9 v Kn643
+ K8 ¢ EKn95
&#KKn10982 #65
4 ED2
v D752
+ 10764
74
Par Kontr Ut
J1 J10 3¢DO-5 &7
J3 J4 3NN+1 3
H7 H13 3NO-3 v2
Gl4 G12 2NO-3 2
D2 D12 24 0-2 2
F9 F5 24V-2 &3
H18 H10 24 N+2 &6
F1 F10 INN+2 45
H1 H9 INN+2 v4
110 112 INN+2 &7
D13 D1 2NN+1 5
H14 H2 2NN+1 &6
Gl6 G2 INS+2 a5
H17 H3 INN+2 9
Gl5 G6 1a N+2 5
Gl G3 2NN= &5
C4 C2 2NS= T
G5 G9 INS+1 &J
J6 J8 2NN= ¢ A
B7 B2 2NS= &)
C8 C7 INN+1 5
Al0 Al 2NS= &J
Cll C6 INN+1 ¢3
H15 H8 INS+1 &9
G17 G10 INN+1 5
G18 G4 2NN= &6
I3 14 24 N= v4
D4 D10 2v S= &J
H6 H5 2v S= T
18 111 24 N= &6
A9 A5 2v S= T
D16 D7 2v S= T
19 I5 38V-1 &4
All A8 2¢ V-1 ¢Q
A7 A2 INS= &8
B9 B5 INS= &8
F11 F6 INS= &2
Al2 A6 INS= &2
Cl2 C3 INS= &9
E2 E1 14 N= ¢5
Cl1 C10 2vyS-1 &J
F4 F2 INN-1 &J
B6 B8 14 N-1 &6
16 11 24 N-1 &6
E7 E4 14 N-1 &5
G8 G19 24 N-1 &6
C9 C5 INS-1 &9
D11 D3 2NS-1 &8
113 17 24 N-1 &6
D14 D15 3v S-1 ¢K
E3 E5 3aV-= vT
Bl B10 INS-2 &8
B3 B4 34 N-2 &6
H4 H11 24 N-2 &6
J7 J2 3NN-2 &6
F8 F7 2NN-2 &5
G1l1 G20 INS-2 &T
A4 A3 2NN-3 &6
D6 D8 INS-3 &8
114 12 INS-3 &J
G7 G13 2NS-4 &)
D5 -
E6 -
J9 -
F12 -
H16 -

Basta kontrakt 14 4 EKKn4
24 N =110 Ost v 10984
Ingen 486432
& ¢ v & NT &»-
N588 87 |«10 « D7652
S588 87 |vYE75 vD2
085555 |+Kn9 + KD5
V 8 55 5 5 |[&KDKN10875 #E43
# 983
v KKn63
+ E107
#962
Res Poang Par Kontr Ut
1400 120.0 0.0|Al2 A6 5&#V-3 &A
630 1180 20| H6 H5 5&V-2 &K
300 1150 5.0(Cl12 C3 5&V-2 &A
300 1150 50| E3 E5 3NV-1 K
200 111.0 9.0 16 11 3NV-1 &A
200 111.0 9.0| B7 B2 54V-1 &A
170 108.0 12.0| G7 G13 3NV-1 &K
150 100.0 20.0| J7 J2 54V-1 &K
150 100.0 20.0| F8 F7 3NV-1 «T
150 100.0 20.0| 18 111 54V-1 *T
150 100.0 20.0| C9 C5 5&4V-1 &A
150 100.0 20.0|G14 G12 3NV-1 *T
150 100.0 20.0| 114 12 54V-1 *T
150 100.0 20.0|G15 G6 3+ V-1 ¥9
140 92.0 28.0( F1 F10 3#V= v9
120 80.0 400 G1 G3 3#V= &K
120 80.0 40.0( D4 D10 3« V= &K
120 80.0 40.0| G5 G9 3#V= aA
120 80.0 40.0( G8 G19 3« V= vT
120 80.0 40.0( A9 A5 3&V= aA
120 80.0 40.0(D11 D3 3#V= vT
120 80.0 40.0 (D14 D15 3 V= &A
120 80.0 40.0( D6 D8 2NV= a4
120 80.0 40.0({D16 D7 INV+1 T
120 80.0 40.0( J1 J10 24 V+2 T
120 80.0 40.0( D2 D12 34 O+1 T
110 63.0 57.0( I3 14 3&#V+1l v4
110 63.0 57.0( J3 J4 34V+l ¢4
110 63.0 57.0( J6 J8 34V+l T
110 63.0 57.0( C8 C7 3#V+l1l v9
110 63.0 57.0(Cll C6 4V= vT
110 63.0 57.0(G1l6 G2 44 V= &K
100 55.0 65.0( H1L H9 2NV +1 +¢2
100 55,0 65.0( E2 El1 3#V+2 3
90 48.0 72.0| H4 H11 34V +2 T
90 480 720| B6 B8 3#V+2 &A
90 48.0 72.0|G17 G10 2NO+2 ¥6
90 48.0 72.0| Bl B10 5# V= aA
90 480 720 A4 A3 3NV= 4A
80 420 780| F9 F5 3NO= #3
-100 31.0 89.0| 19 I5 3NO= ¢3
-100 31.0 89.0|A10 Al 5&#V= &K
-100 31.0 89.0|F11 F6 3NO= *3
-100 31.0 89.0|D13 D1 3NO= 7
-100 31.0 89.0|H15 H8 3NO= v¥6
-100 31.0 89.0|G18 G4 3NO= v6
-100 31.0 89.0| B3 B4 3NO+1 ¢3
-100 31.0 89.0| C4 C2 3NV+1l ¢2
-100 31.0 89.0| F4 F2 3NO+1 +A
-100 31.0 89.0| A7 A2 3NV+l ¢3
-110 20.0 100.0| E7 E4 3NO+1 ¥6
-200  13.0 107.0| H7 H13 3NO+1 ¥3
-200  13.0 107.0| B9 B5 3NO+1 ¢3
-200  13.0 107.0|Al11 A8 3NO+1 &Q
-200  13.0 107.0| 113 17 3NO+1 ¥6
-200  13.0 107.0|H14 H2 3NO+1 &2
-200 13.0 107.0 |H17 H3 3NV +1 T
-300 4.0 116.0 [H18 H10 3NO+1 v6
-300 4.0 116.0| C1 C10 3NO+2 v6
-300 4.0 116.0( 110 112 3NO+2 3
-400 0.0 120.0 |G11 G20 3NO+2 ¥6
53.1 D5 -
50.5 E6 -
40.6 J9 -
54.8 F12 -
59.5 H16 -

Basta kontrakt
4¢ SD-1-100

]

hPWOOe

N
S
o)
v

Res

-130
-130
-130
-130
-130
-150
-150
-150
-150
-180
-400
-400
-400
-400
-400
-400
-400
-400
-400
-430
-430
-430
-430
-430
-430
-430
-430
-430
-430
-430
-430
-460
-460
-460

PR wWwWw

~AphoOO<e
[N INIENE 2

0 00wWwZ

Poang

120.0
117.0
117.0
104.0
104.0
104.0
104.0
104.0
104.0
104.0
104.0
104.0
104.0
104.0
85.0
85.0
85.0
85.0
85.0
85.0
85.0
85.0
75.0
75.0
65.0
65.0
65.0
65.0
65.0
65.0
65.0
65.0
53.0
53.0
53.0
53.0
48.0
38.0
38.0
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15 4632
Syd v EKn3
NS + K96
&#E1052
#1074 &KKn
vD8652 vK107
4853 ¢+ E1072
43 D876
4 ED985
v94
+ DKn4
&KKn9
Par Kontr Ut
Bl B10 14D S +4 &6
H17 H4 3vyDV-4 42
Al A9 44 S+1 &3
Gl G14 44 S+1 T
14 15 44 S+1 T
H7 H6 44 S+1 &4
F11 F6 44 S+1 &4
D14 D2 44 N+1 &4
113 18 3NN+1 ¢2
Cl C10 44 S= v8
J1 J10 4e S=
E2 E1 44 S= &3
J3 J4 4e S= LY
F4 F2 44 S= v5
A5 A4 4e N= &4
B6 B8 44 S= &4
J7 J2 46 S= v5
C8 C7 44 S= &3
H8 H13 44 S= &4
110 16 44 S= v2
All A2 44 S= v6
Cll C6 44 S= LY
H1l H18 44 S= &4
Al2 A7 44 S= +8
Cl2 C3 44 S= +8
D12 D4 44 S= v2
H14 H3 44 S= &4
G15 G7 44 S= v2
H15 H9 44 S= v2
H16 H1 44 S= &4
G18 G5 44 S= &4
G20 G12 4 S= a5
D3 D13 3NS= v2
17 12 3NN= +6
F9 F5 3NN= *2
Al0 A6 3NN= &7
111 11 3NN= &6
H2 H10 34 S+2 &4
G6 G10 24 S+3 v6
F8 F7 34 S+2 &4
G9 G19 34 S+2 &4
D6 D10 24 S+2 ¥5
G2 G4 34 S= v5
J6 J8 34 S= +8
B7 B2 34 S= v2
G13 G8 34 S= v2
G16 G3 34 S= v2
F1 F10 44 S-1 +8
B3 B4 3&#N-1 ¢7
E3 E5 44 S-1 v5
C4 C2 44 S-1 w2
D5 D11 44 S-1 +v6
E7 E4 44 S-1 v6
B9 B5 44 S-1 ¢8
C9 C5 44 S-1 ¥5
D15 D1 44 S-1 &7
D16 D8 44 S-1 v5
G17 G11 464 S-1 2
A8 A3 3NS-2 #2
114 13 3NS-2 +v6
19 112 44 S-3 v6
H5 -
E6 -
D7 -
J9 -
F12 -

Basta kontrakt

4ANT N =630
& ¢ v & NT
N 109 7 1010
S99 7 109
0346 33
V 346 33
Res Poang
960 120.0 0.0
800 1180 2.0
650 111.0 9.0
650 111.0 9.0
650 111.0 9.0
650 111.0 9.0
650 111.0 9.0
650 111.0 9.0
630 104.0 16.0
620 80.0 40.0
620 80.0 40.0
620 80.0 40.0
620 80.0 40.0
620 80.0 40.0
620 80.0 40.0
620 80.0 40.0
620 80.0 40.0
620 80.0 40.0
620 80.0 40.0
620 80.0 40.0
620 80.0 40.0
620 80.0 40.0
620 80.0 40.0
620 80.0 40.0
620 80.0 40.0
620 80.0 40.0
620 80.0 40.0
620 80.0 40.0
620 80.0 40.0
620 80.0 40.0
620 80.0 40.0
620 80.0 40.0
600 52.0 68.0
600 52.0 68.0
600 52.0 68.0
600 52.0 68.0
600 52.0 68.0
200 43.0 77.0
200 43.0 77.0
200 43.0 77.0
200 43.0 77.0
170 38.0 82.0
140 32.0 88.0
140 32.0 88.0
140 32.0 88.0
140 32.0 88.0
140 32.0 88.0
-100 16.0 104.0
-100 16.0 104.0
-100 16.0 104.0
-100 16.0 104.0
-100 16.0 104.
-100 16.0 104.0
-100 16.0 104.0
-100 16.0 104.0
-100 16.0 104.0
-100 16.0 104.0
-100 16.0 104.0
-200 3.0 117.0
-200 3.0 117.0
-300 0.0 120.0
55.0
50.5
58.0
40.6
54.8
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16 « D98763
Vast v97
ov +94
#Kn106
&K «E104
v 10852 vED6
+DKn85 ¢ E73
#E942  #KB853
& Kn52
v KKn43
+ K1062
&D7
Par Kontr Ut
B8 B3 3NO-3 42
14 15 3NO-2 &2
G15 G7 3NO-2 &
H15 H9 4v V-2 &T
D16 D8 3NO-2 &2
H17 H4 3NO-2 a2
B2 B10 24 N= vA
C2 C10 2NO-1 a2
E2 E1 3NO-1 3
B4 B5 3NO-1 42
C5 C3 3NO-1 2
E7 E4 3NO-1 46
A8 A3 3NV-1 +¢6
J8 J3 3NO-1 5
C9 C6 BNO-1 a2
FO F6 3¢ O-1 &5
All A2 3NO-1 3
111 11 3NO-1 v4
F12 F4 3NO-1 3
G13 G8 3NO-1 +6
H14 H3 3NO-1 2
J2 J10 INO= ¢2
17 12 26 O= &3
F2 F10 24 N-2 %3
H7 H6 2v V= a9
B7 Bl 2NO= ¢3
Al A9 34 N-3 &5
G6 G10 24 O+3 v4
G17 G11 34 N-3 +A
F7 F11 2NO+2 v4
F1 F8 3NO= 2
Gl G14 3NO= 3
D3 D13 3NO= ¥3
E3 E5 3NO= ¢3
D5 D11 3NO= +¢6
C7 Cl11 3NO= +¢2
H8 H13 3NV = a7
B9 B6 3NO= +¢3
19 112 3NO= ¢3
A10 A6 3NO= 3
110 16 3NO= 3
Al2 A7 3NO= +3
Cl2 C4 3NV= *2
D12 D4 3NO= v4
113 18 3NO= v4
D14 D2 3NO= 2
114 13 3NO= ¢2
D15 D1 3NO= v4
Gl6 G3 3NO= 3
H16 H1 3NO= ¢2
G18 G5 3NO= v4
J9 J6 4v V= &J
Cl C8 3NO+1 v4
G2 G4 3NO+1 ¥3
H2 H10 BNO+1 v4
J7 J1 3NO+1 3
H11 H18 3NO+1 3
G20 G12 3NO+1 3
A5 A4 3NO+2 2
G9 G19 3NO+2 v4
J4 -
F5 -
H5 -
E6 -
D7 -
D6 D10

Bésta kontrakt 17 4109
44 N D -3-500 Nord v KKn532
Ingen + E1096
& ¢ v & NT »32
N3 4474 « EKn7432 4865
S34474 vD6 v 1094
0 109 9 6 9 +53 ¢ 874
vV 109 9 6 9 #Kn76 #D985
+KD
v E87
¢ KDKn2
#EK104
Res Poang Par Kontr Ut
300 120.0 0.0| D1 D2 6NS= 45
200 1139 6.1| B4 B5 6NS= &A
200 1139 6.1| C5 C3 6NS= &A
200 1139 61| 18 I3 6NS= &A
200 1139 6.1| B9 B6 6NS= +vQ
200 1139 6.1 |H17 H5 6NS= &4
110 107.8 12.2| H3 H11 6y S= +5
100 925 275 C9 C6 6y N= v4
100 925 275(D13 D5 6v S= 4A
100 925 275(H13 H9 6vy N= 48
100 925 275( E7 E5 66 S= vT
100 925 275| D8 D10 6¢ N= &5
100 925 275( B7 Bl 3NS+4 a2
100 925 27.5(G17 G12 24DV -3 4T
100 925 275 C1 C8 3NS+3 44
100 925 275( B2 B10 3NS+3 42
100 925 275 E3 E2 3NS+3 44
100 925 275| G3 G5 3NS+3 a7
100 925 275 E4 E6 3NS+3 42
100 925 275( 15 16 3NS+3 %6
100 925 275 H6 H1 3NS+3 42
90 76.3 43.7| C7 C1l1 3NS+3 3
90 76.3 43.7| J7 J1 3NS+3 43
-100 73.2 46.8| H8 H7 3NS+3 42
-110 712 48.8| J8 J3 ANS+2 44
-120 69.2 50.9| A9 A4 3NS+3 43
-150 65.1 549| F9 F6 4ANS+2 42
-150 65.1 549|110 11 3NN+3 &2
-150 65.1 549|111 17 3NS+3 &6
-180 61.0 59.0|Cl12 C4 4ANS+2 ¢5
-600 38.7 81.4|H16 H2 3NS+3 43
-600 38.7 81.4| Al A3 4y S+2 &A
-600 38.7 81.4| A2 A10 5v N+1 438
-600 38.7 81.4| C2 C10 5v S+1 &A
-600 38.7 81.4| F2 F10 4y S+2 &A
-600 38.7 81.4| J2 JI10 4y S+2 ¢5
-600 38.7 81.4| 14 114 4v S+2 ¢5
-600 38.7 81.4| A6 A5 4y S+2 &A
-600 38.7 81.4| D7 D11 4y N+2 48
-600 38.7 81.4| F7 F11 4y N+2 &5
-600 38.7 81.4| B8 B3 4y N+2 &8
-600 38.7 81.4| G8 G15 4v S+2 ¢3
-600 38.7 81.4|All A7 4y N+2 48
-600 38.7 81.4|Al2 A8 5v S+l v6
-600 38.7 81.4|F12 F4 4vy N+2 438
-600 38.7 81.4| 113 19 4y N+2 v4
-600 38.7 81.4|Gl4 G2 4y N+2 48
-600 38.7 81.4|D15 D3 5v S+1 43
-600 38.7 81.4|H15 H10 4y N+2 48
-600 38.7 81.4|G16 G4 5v N+1 46
-600 38.7 81.4|G18 G6 4y N+2 45
-620 16.3 103.7 |G19 G10 4y S+2 &A
-630 9.2 110.8|G20 G1 4v S+2 &A
-630 9.2 110.8| G7 G11 4y N+1 T
-630 9.2 110.8| J9 J6 4y S+1 &A
-630 9.2 110.8| F1 F8 3NS+1 43
-630 9.2 110.8| 112 12 3v N+3 45
-630 9.2 110.8| G9 G13 3y N+2 45
-660 1.0 119.0 | D6 D12 3¢ S+2 A
-660 1.0 119.0| D4 D14 6v S-1 &A
55.3 H4 H14 44 S-2 45
61.6 J4 -
55.0 F5 -
50.5 - E1
58.0 D16 -
A-/A- 48.0 43.3|H18 -

Basta kontrakt
6NT N =990
& ¢ v & NT
N 1012127 12
S 1012127 12
030151
V30151
Res Poang
990 1150 5.0
990 115.0 5.0
990 115.0 5.0
990 1150 5.0
990 115.0 5.0
990 1150 5.0
980 105.0 15.0
980 105.0 15.0
980 105.0 15.0
980 105.0 15.0
920 99.0 21.0
920 99.0 21.0
520 96.0 24.0
500 94.0 26.0
490 76.0 44.0
490 76.0 44.0
490 76.0 44.0
490 76.0 44.0
490 76.0 44.0
490 76.0 44.0
490 76.0 44.0
490 76.0 44.0
490 76.0 44.0
490 76.0 44.0
490 76.0 44.0
490 76.0 44.0
490 76.0 44.0
490 76.0 44.0
490 76.0 44.0
490 76.0 44.0
490 76.0 44.0
480 37.0 83.0
480 37.0 83.0
480 37.0 83.0
480 37.0 83.0
480 37.0 83.0
480 37.0 83.0
480 37.0 83.0
480 37.0 83.0
480 37.0 83.0
480 37.0 83.0
480 37.0 83.0
480 37.0 83.0
480 37.0 83.0
480 37.0 83.0
480 37.0 83.0
480 37.0 83.0
480 37.0 83.0
480 37.0 83.0
480 37.0 83.0
480 37.0 83.0
480 37.0 83.0
480 37.0 83.0
450 13.0 107.0
450 13.0 107.0
430 10.0 110.0
230 8.0 112.0
200 6.0 114.0
150 4.0 116.0
-50 2.0 118.0
-100 0.0 120.0
55.3
61.6
52.6
64.1
75.9

48

v EKD54

+ DKn864
*K2

4 EKN10763 & KD

v 86 v Kn2
+ 109 ¢ E532
#E83 &D7654
& 9542

v 10973

* K7
&#Kn109

Kontr Ut

2vDN+2 oK
4vyDN =
4vyDN =
4v
4v

18
Ost
NS

Par

F1
C1
D4
F7
15
All
113

R N R
L A N TN N =

U<
N

+
=

=
<
Q

=
<
>

w
>
<<<<<<<<<<<<ozz<<0o9<o0zzzZzz0o0nzZ22=
N NN LN
<
~

[ LI S I A O I 1
<
~

V +2

V=

N
>
U<

<unnunn
1"

Basta kontrakt

44 OD-1100
& ¢ v & NT
N 3 9 103 5
S 39 103 5
08 3398
V84398
Res Poang
1070 120.0 0.0
790 117.0 3.0
790 117.0 3.0
650 1140 6.0
620 109.0 11.0
620 109.0 11.0
620 109.0 11.0
620 109.0 11.0
200 103.0 17.0
200 103.0 17.0
170 99.0 21.0
170 99.0 21.0
140 95.0 25.0
140 95.0 25.0
100 89.0 31.0
100 89.0 31.0
100 89.0 31.0
100 89.0 31.0
50 82.0 38.0
50 82.0 38.0
50 82.0 38.0
-100 77.0 43.0
-100 77.0 43.0
-110 74.0 46.0
-140 61.0 59.0
-140 61.0 59.0
-140 61.0 59.0
-140 61.0 59.0
-140 61.0 59.0
-140 61.0 59.0
-140 61.0 59.0
-140 61.0 59.0
-140 61.0 59.0
-140 61.0 59.0
-140 61.0 59.0
-140 61.0 59.0
-170 32.0 88.0
-170  32.0 88.0
-170 32.0 88.0
-170 32.0 88.0
-170 32.0 88.0
-170 32.0 88.0
-170 32.0 88.0
-170 32.0 88.0
-170 32.0 88.0
-170 32.0 88.0
-170 32.0 88.0
-170 32.0 88.0
-170 32.0 88.0
-170 32.0 88.0
-170 32.0 88.0
-170 32.0 88.0
-170  32.0 88.0
-200 14.0 106.0
-420 7.0 113.0
-420 7.0 113.0
-420 7.0 113.0
-420 7.0 113.0
-420 7.0 113.0
-420 7.0 113.0
-590 0.0 120.0
55.3
61.6
52.6
64.1
75.9
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19 & K106
Syd v 7532
oV +83
&E1075
« EDKNn9432 4875
v D6 v KKn1094
¢ Knl102 ¢+ EK94
&3 &K
Q-
vES8
+ D765
#DKn98642
Par Kontr Ut
C2 Cl 54DS= &A
C3 C10 54D S= &A
H7 H2 54DS= &A
D2 D3 5#S= s A
D1 D4 54 V-3 38
D8 D12 54 V-3 &A
111 12 54 V-3 &A
Cl2 C5 54 V-3 &A
11 I3 54V-2 48
A7 A6 54 V-2 &A
G17 G1 44DV-1 &A
H18 H1 54 V-2 &A
Al A8 5&V-1 &A
A3 All 58 V-1 &A
E4 E6 44 V-1 48
G4 G6 54 V-1 &A
B5 B6 44 V-1 48
C6 C4 5e V-1 &A
D7 D13 54 V-1 &A
F8 F11l 54 V-1 #A
B9 B7 54 V-1 &A
F9 F7 54 V-1 &A
H1l H15 54 V-1 &A
Al2 A9 44 V-1 38
H13 H10 54 V-1 &A
G15 G9 4e V-1 2
D16 D10 44 V-1 &A
H16 H3 44 V-1 38
G18 G7 44 V-1 &A
G20 G2 54 V-1 &A
A2 A4 56 S-1 @A
C8 Cll1 64 S-1 &A
C9 C7 5#S-1 &A
Bl B4 54DS-1 vQ
G8 G12 54D S-1 T
113 110 54D S-1 T
H17 H6 54 N-2 &5
J1 J4 34 V+1l ¢8
J8 J2 24 V42 &A
D14 D6 34 V+1 38
G3 G14 64D S-2 A
B8 B2 54DS-2 v6
J9 J7 64DS-2 4A
F2 F1 4e V= +8
B3 B10 4e V= &A
J3 J10 4e V= &A
D5 D15 44 V= &A
G5 G16 44 V= &A
H5 H14 44 V= &A
15 114 44 V= +8
F6 F4 44 V= +8
16 17 44 V= +8
E7 E5 4e V= &A
H9 H8 44 V= &A
19 14 44 V= &A
Al0 A5 4e V= &A
F12 F5 44 V= &A
112 18 44 V= +8
G13 G10 44 V= &A
G19 G11 44 V= &A
E3 E2 44 V+1 &T
- F10
H4 -
- J6
- E1
- D11

Basta kontrakt

5# SD-1-100
& ¢ v & NT

N 105 5 3 8

S 105 5 3 8

O 3 8 8 105

V 3 8 8 105

Res Poang
550 1180 2.0
550 118.0 2.0
550 118.0 2.0
400 114.0 6.0
300 109.0 11.0
300 109.0 11.0
300 109.0 11.0
300 109.0 11.0
200 101.0 19.0
200 101.0 19.0
200 101.0 19.0
200 101.0 19.0
100 79.0 41.0
100 79.0 41.0
100 79.0 41.0
100 79.0 41.0
100 79.0 41.0
100 79.0 41.0
100 79.0 41.0
100 79.0 41.0
100 79.0 41.0
100 79.0 41.0
100 79.0 41.0
100 79.0 41.0
100 79.0 41.0
100 79.0 41.0
100 79.0 41.0
100 79.0 41.0
100 79.0 41.0
100 79.0 41.0
-50 58.0 62.0
-50 58.0 62.0
-50 58.0 62.0
-100  51.0 69.0
-100 51.0 69.0
-100  51.0 69.0
-100  51.0 69.0
-170  44.0 76.0
-170 440 76.0
-170 440 76.0
-300 38.0 82.0
-300 38.0 82.0
-300 38.0 82.0
-620 18.0 102.0
-620 18.0 102.0
-620 18.0 102.0
-620 18.0 102.0
-620 18.0 102.0
-620 18.0 102.0
-620 18.0 102.0
-620 18.0 102.0
-620 18.0 102.0
-620 18.0 102.0
-620 18.0 102.0
-620 18.0 102.0
-620 18.0 102.0
-620 18.0 102.0
-620 18.0 102.0
-620 18.0 102.0
-620 18.0 102.0
-650 0.0 120.0
58.0

40.2

71.4
52.6
64.1

20 «EDI10
Vast v KD87
Alla 49432
»87
4Kn53 4K98
vKn543 vE1092
+ EK8 ¢ 107
942 &#KD105
47642
v6
+ DKn65
&EKN6G3
Par Kontr Ut
D14 D6 4vDV-4 ¢3
Al A8 3vO-2 +¢5
11 13 29 V-2 &8
D7 D13 2v V- &3
Gl17 Gl 2v0-2 +Q
G20 G2 24 S+1 A
J1 J4 INO-1 &4
C2 Cl 2¢vV-1 8
F2 F1 2vO-1 &7
C3 C10 29 O-1 &7
C6 C4 29v0-1 +Q
16 17 2»0-1 +Q
B8 B2 2y V-1 &8
C9 C7 3v0O-1 &4
F9 F7 INV-1 +4
Cl2 C5 2y V-1 &8
F12 F5 INO-1 +J
H13 H10 INV-1 3
H18 H1 INV-1 ¢K
H1l H15 2¢ N= &Q
B5 B6 INV= v7
C8 Cl11 INO= &5
Al2 A9 INV= vK
G15 G9 INV= vQ
G4 G6 24 S-1 ¢A
F8 F11 3¢ N-1 «K
B9 B7 INS-1 ¢3
G13 G10 2NN-1 w2
H17 H6 INN-1 &5
D1 D4 2vV-= &8
A2 A4 29y 0= ¥v6
A3 All 2y V= &8
G3 G14 2v V= &8
J3 JI0 1v O+1 #A
E4 E6 2v V= &7
D5 D15 2v V= &8
H5 H14 2v V= &3
A7 A6 2v V= &8
E7 E5 1lv V+1 &8
D8 D12 2v V= &3
J8 J2 2v V= &7
H9 H8 1v V+1 48
19 14 29 O= &3
111 12 2v V= &8
112 18 1v V+1 48
H16 H3 2v O= +¢5
G18 G7 2v O= #4
G19 G11 1v V+1 8
B3 B10 INV+1 v7
H7 H2 INO+1 ¢Q
J9 J7 INO+1 v6
Al10 A5 INO+l1 v6
D16 D10 INV+1 ¢38
E3 E2 1y V+2 «Q
G5 G16 2v O+1 +Q
I5 114 2v O+1 ¢Q
F6 F4 2v O+1 +5
113 110 2v V+1 ¢3
Bl B4 1lv S-2 &3
D2 D3 24 S-2 #3
G8 G12 2NDN-2 #Q
- F10
H4 -
- J6
- E1
- D11

Basta kontrakt

2v V =-110

& ¢ v & NT
N6 8576
S6 8576
075867
V75867

Res Poang
1100 120.0 0.0
200 115.0 5.0
200 1150 5.0
200 115.0 5.0
200 115.0 5.0
140 110.0 10.0
100 96.0 24.0
100 96.0 24.0
100 96.0 24.0
100 96.0 24.0
100 96.0 24.0
100 96.0 24.0
100 96.0 24.0
100 96.0 24.0
100 96.0 24.0
100 96.0 24.0
100 96.0 24.0
100 96.0 24.0
100 96.0 24.0
90 82.0 38.0
-90 77.0 43.0
-90 77.0 43.0
-90 77.0 43.0
-90 77.0 43.0
-100 68.0 52.0
-100 68.0 52.0
-100 68.0 52.0
-100 68.0 52.0
-100 68.0 52.0
-110 440 76.0
-110 44.0 76.0
-110 44.0 76.0
-110 440 76.0
-110 44.0 76.0
-110 44.0 76.0
-110 440 76.0
-110 44.0 76.0
-110 44.0 76.0
-110 440 76.0
-110 44.0 76.0
-110 44.0 76.0
-110 440 76.0
-110 44.0 76.0
-110 44.0 76.0
-110 440 76.0
-110 44.0 76.0
-110 44.0 76.0
-110 440 76.0
-120  20.0 100.0
-120  20.0 100.0
-120 20.0 100.0
-120  20.0 100.0
-120  20.0 100.0
-140 10.0 110.0
-140  10.0 110.0
-140 10.0 110.0
-140 10.0 110.0
-140 10.0 110.0
-200 3.0 117.0
-200 3.0 117.0
-500 0.0 120.0
58.0

40.2

71.4
52.6
64.1

21 « EKn106
Nord v K10832
NS ¢ EK
&Kn2
& K95 843
v5 v EDKn764
¢ Kn754 ¢ 103
#D9873 #E5
4 D72
v9
+ D9862
»K1064
Par Kontr Ut
J3 J10 3NN+1 #J
114 16 3NS+1 &3
A2 A9 3NS= &7
A3 A5 3&V-4 +A
All A6 INN+3 ¥vA
112 13 INN+3 v4
D2 D5 INS+2 &9
12 14 29 0-3 46
G5 G7 2NS+1 &3
110 15 INN+2 vA
Al2 A10 INS+2 &7
113 111 INS+2 #3
G20 G3 2v O-3 +6
F6 F4 1vy N+2 &A
B8 B2 1lv N+2 &A
G9 G1 24 N+1 T
H16 H4 24 N+1 &A
11 19 2NS= &3
B5 B6 INS+1 &5
E5 E1 INS+1 &3
C8 Cl11 INS+1 &3
C9 C7 2NS= &7
H10 H9 INS+1 &3
Gll G13 2NS= &3
H13 H11 2NS= &3
D16 D11 INS+1 &8
C2 Cl 24 N= *T
A4 Al 24 N= &3
F9 F7 24 N= #A
G10 G15 24 N= #A
Cl2 C5 24 S= &7
D15 D7 24 N= #A
B3 B10 2v O-2 2
H14 H6 24 V-2 ¢A
H5 H1 INS= &3
G16 G6 INS= &3
Bl B4 1lvy N= &A
G2 G17 1v N= &A
J1 J4 3NS-1 &7
D3 D4 3NS-1 &3
C6 C4 24 N-1 &A
17 18 SNN-1 &6
A8 A7 2NS-1 &7
D10 D12 24 N-1 &A
Gl4 G4 24 N-1 «3
H17 H7 34 N-1 &A
G18 G8 24 N-1 #A
H18 H2 2NS-1 &3
G19 G12 2N S-1 &7
F2 F1 24 N-2 #A
E4 E3 34 N-2 &A
D6 D1 24 N-2 &A
E7 E6 34 N-2 &A
H8 H3 3NS-2 &3
J8 J2 3NS-2 &7
B9 B7 24 N-2 &A
J9 J7 44 N-2 &A
F12 F5 34 N-2 &A
F8 F11 3NS-3 %3
C3 C10 3NS-4 &9
D8 D14 2vyDN-2 T
E2 -
- F10
- J6
- D13
- H15

Basta kontrakt

3NT N =600

& ¢ v & NT
N8 9899
S 898 88
0545 4 4
V54544

Res Poang
630 119.0 1.0
630 119.0 1.0
600 116.0 4.0
200 1140 6.0
180 111.0 9.0
180 111.0 9.0
150 102.0 18.0
150 102.0 18.0
150 102.0 18.0
150 102.0 18.0
150 102.0 18.0
150 102.0 18.0
150 102.0 18.0
140 91.0 29.0
140 91.0 29.0
140 91.0 29.0
140 91.0 29.0
120 78.0 420
120 78.0 42.0
120 78.0 42.0
120 78.0 42.0
120 78.0 42.0
120 78.0 42.0
120 78.0 42.0
120 78.0 42.0
120 78.0 42.0
110 63.0 57.0
110 63.0 57.0
110 63.0 57.0
110 63.0 57.0
110 63.0 57.0
110 63.0 57.0
100 55.0 65.0
100 55.0 65.0
90 51.0 69.0
90 51.0 69.0
80 47.0 73.0
80 47.0 73.0
-100 34.0 86.0
-100 34.0 86.0
-100 34.0 86.0
-100 34.0 86.0
-100 34.0 86.0
-100 34.0 86.0
-100 34.0 86.0
-100 34.0 86.0
-100 34.0 86.0
-100 34.0 86.0
-100 34.0 86.0
-200 14.0 106.0
-200 14.0 106.0
-200  14.0 106.0
-200 14.0 106.0
-200 14.0 106.0
-200  14.0 106.0
-200  14.0 106.0
-200 14.0 106.0
-200  14.0 106.0
-300 4.0 116.0
-400 2.0 118.0
-500 0.0 120.0

69.8

58.0
71.4
67.9
62.8
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22
Ost
ov

& K962

485
vD1083

+ K107632
&Kn

v7654 vK2
¢+ E854
#10953 #EKD2

+D

Par

& EKn43
v EKn9
+ Kn9
#8764

Kontr

3¢ O-5
3¢DN=
1¢ O-3
44 V-3
3N O -3
34 V-3
26 DN+1
2¢ DN +1
1le
3N
2y
1le
1le
1le¢
3N
3N
3¢
2¢
1le
24
34
38
3N
3N
1le
1le¢
2¢
2y
1s
1s
1a
2y

N

INTNTRTRIRY )

LN ||
=

N

|'_‘II'-L-

L+ o+
L JLLAEN

OO0 Z0:00ZZ2Z0:000<<0OZZ00000<<0O
N

w
K3
+ 11 +

N
g
O
N

16 O +2
INO +1
2NV =
INO +1
IN O +1
2NO =
2NO =
INO +1
INO +1
2NO =
INO +1
INO +1
2NO =
2NO =
2NO =
INO +1
INO +1
14 O +3
34 V=
IN O +2
2N O +1
IN QO +2
2N O +1
INO +3
3NO=
3NO=

« D107

Ut

a4
*A
*6
*)
¢J
*J

Basta kontrakt
3¢ S =110
& ¢ v & NT
N3 96 45
S396565
0946 87
V9 46 86
Res Poang
500 120.0 0.0
470 118.0 2.0
300 113.0 7.0
300 113.0 7.0
300 113.0 7.0
300 113.0 7.0
280 107.0 13.0
280 107.0 13.0
200 97.0 23.0
200 97.0 23.0
200 97.0 23.0
200 97.0 23.0
200 97.0 23.0
200 97.0 23.0
200 97.0 23.0
200 97.0 23.0
110 87.0 33.0
110 87.0 33.0
100 78.0 42.0
100 78.0 42.0
100 78.0 420
100 78.0 42.0
100 78.0 42.0
100 78.0 420
100 78.0 42.0
90 69.0 51.0
90 69.0 51.0
-50 66.0 54.0
-90 62.0 58.0
-90 62.0 58.0
-90 62.0 58.0
-100 58.0 62.0
-110 53.0 67.0
-110 53.0 67.0
-110 53.0 67.0
-110 53.0 67.0
-120 33.0 87.0
-120 33.0 87.0
-120 33.0 87.0
-120 33.0 87.0
-120 33.0 87.0
-120 33.0 87.0
-120 33.0 87.0
-120 33.0 87.0
-120 33.0 87.0
-120 33.0 87.0
-120 33.0 87.0
-120 33.0 87.0
-120 33.0 87.0
-120 33.0 87.0
-120 33.0 87.0
-120 33.0 87.0
-130 16.0 104.0
-140 14.0 106.0
-150 9.0 111.0
-150 9.0 111.0
-150 9.0 111.0
-150 9.0 111.0
-180 4.0 116.0
-600 1.0 119.0
-600 1.0 119.0
69.8
62.0
57.2
67.9
62.8

23
Syd
Alla

« E87653
vE9

+5
&#KKn42

aD4 & K2

vK542 vKnl08763

+ D743 ¢ E82
4983 #D5

Par

& Knl109
vD

+ KKn1096
#E1076

Kontr Ut

44 N+2 9]
44 N+2 &Q
464 N+2 9]
44 N+2 T
44 N+2 &Q
464 N+2 9]
44 N+2 9]
46 N+2 9]
464 N+2 9]
44 N+2 9]
46 N+2 9]
54 N = vlJ
44 N+1 9J
44 N+1 9]
44 S+1 A
44 N+1 T
44 N+1 @7
40 N+1 T
44 N+1 9J
44 N+1 &5
464 N+1 oA
44 N+1 o2
44 N+1 @7
44 N+1 &5
44 N+1 v6
44 N+1 9]
464 N+1 9]
44 N+1 <A
44 N+1 #3
40 N+1 T
44 N+1 9J
44 N+1 9]
464 N+1 9]
44 N+1 #Q
44 N+1 9]
464 N+1 9]
44 N+1 9J
44 N+1 &5
464 N+1 9]
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24 N+2 v6
34 N+1 #T
34 N+1 vJ
34 S+l &4
44 N-1 vJ
2v O = T
3NN-2 vJ

Basta kontrakt
54 S =650
& ¢ v & NT
N 118 5 117
S 118 5 117
024723
V24723
Res Poang
680 110.0 10.0
680 110.0 10.0
680 110.0 10.0
680 110.0 10.0
680 110.0 10.0
680 110.0 10.0
680 110.0 10.0
680 110.0 10.0
680 110.0 10.0
680 110.0 10.0
680 110.0 10.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
650 69.0 51.0
620 33.0 87.0
620 33.0 87.0
620 33.0 87.0
620 33.0 87.0
620 33.0 87.0
620 33.0 87.0
230 26.0 94.0
200 21.0 99.0
200 21.0 99.0
200 21.0 99.0
200 21.0 99.0
170 12.0 108.0
170 12.0 108.0
170 12.0 108.0
170 12.0 108.0
170 12.0 108.0
130 6.0 114.0
-100 4.0 116.0
-110 2.0 118.0
-200 0.0 120.0
69.8
62.0
57.2
66.8
56.9

24 «KD Bésta kontrakt
Vast v Kn2 44 N D -1-100
Ingen * K74
#EKn10864 & ¢ v & NT
4107532 4 Kn86 N9 6 445
v7 vEKD10654 S 9 6 4 4 5
¢ ED106 ¢ Kn9 046985
K52 &7 V47995
4 E94
v 983
+ 8532
D93
Par Kontr Ut Res Poang
D1 D8 INS+1 43 120 120.0 0.0
E7 E6 4v0O0-2 &Q 100 1180 2.0
F1 F11 44 V-1 &) 50 107.0 13.0
C3 C2 4v0-1 &3 50 107.0 13.0
J6 J7 4vO-1 «A 50 107.0 13.0
18 19 4vO0-1 #Q 50 107.0 13.0
B9 B8 4vy O-1 &3 50 107.0 13.0
D10 D14 44 V-1 #A 50 107.0 13.0
G10 G2 3vy O-1 &9 50 107.0 13.0
114 17 49 O-1 &3 50 107.0 13.0
G15 G11 4v O-1 #Q 50 107.0 13.0
H18 H3 3v O-1 &3 50 107.0 13.0
A4 A6 44 N-1 46 -50 88.0 32.0
E4 E3 3#N-1 vQ -50 88.0 32.0
J4 J10 44 N-1 ©vA -50 88.0 32.0
E5 E1 44 N-1 ©vA -50 88.0 32.0
G5 G14 44 N-1 ©vA -50 88.0 32.0
H6 H2 44 N-1 vA -50 88.0 32.0
G7 G16 3# N-1 vK -50 88.0 32.0
H9 H4 44 N-1 ¢K -50 88.0 32.0
H11l H10 44 N-1 ©vA -50 88.0 32.0
FO F8 44 N-2 vA -100 75.0 45.0
Gl7 G3 5#N-2 ¢K -100 750 450
G19 Gl 54N-2 ¢K -100 750 450
G20 G4 44 N-2 ¢K -100 750 450
H5 H16 2v O= #3 -110 70.0 50.0
Cl C11 3y O= 3 -140 51.0 69.0
11 14 3v 0= 43 -140 51.0 69.0
Jl1 J3 3v V= &3 -140 51.0 69.0
12 110 3» O= #Q -140 51.0 69.0
B4 B10 3y O= &2 -140 51.0 69.0
C4 C10 3vy O= 43 -140 51.0 69.0
F4 F10 3v O= &2 -140 51.0 69.0
B6 B7 2vO+1 #Q -140 51.0 69.0
C6 C12 3y O= 3 -140 51.0 69.0
F6 F12 3v O= 44 -140 51.0 69.0
C7 C5 3vyO0= &Q -140 510 69.0
F7 F5 2v O+1 &3 -140 51.0 69.0
C9 C8 3vy O= 3 -140 51.0 69.0
G12 G13 3y O= #Q -140 510 69.0
113 112 2v O+1 &3 -140 51.0 69.0
H14 H7 3vO= #Q -140 51.0 69.0
H15 H1 2v O+1 3 -140 51.0 69.0
D16 D12 3v O= 43 -140 51.0 69.0
J9 J8 5& N- vA -150 32.0 88.0
Bl B3 3y O+1 #Q -170 21.0 99.0
B2 B5 2v O+2 43 -170  21.0 99.0
A3 A10 2v O+2 #3 -170  21.0 99.0
D3 D6 3vy O+1 &3 -170  21.0 99.0
I3 15 3v0+1 «A -170 21.0 99.0
A5 A2 2vO+2 #Q -170 21.0 99.0
G6 G8 3vyO+1 «Q -170 21.0 99.0
G9 G18 3v O+1 44 -170  21.0 99.0
Al2 All 3v O+1 &3 -170  21.0 99.0
H17 H8 2v O+2 +¢3 -170 21.0 99.0
111 16 4v O= #3 -420  10.0 110.0
D7 D2 4v O+1 #A  -450 7.0 113.0
A9 A8 4v O+1 &A -450 7.0 113.0
D4 D5 5#4DN-3 vA  -500 3.0 117.0
D11 D13 5#DN-3 vA  -500 3.0 117.0
Al A7 3vyDO= &3 -530 0.0 120.0
E2 - 69.8
J2 - 62.0
- F2 57.2
- D15 66.8
- H13 56.9
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